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Q.2. Give short answers of the following: 2x10=20)

1. What is the difference between sensation and perception?
2. What is memory?

3. What are important points of Behaviorism?

4

5

Briefly explain the process of creativity.
What is Insight learning?
6. What is James-Lange theory of emotion?
7. What is motivation?
8. What is the difference between absolute threshold and dxffelentlal thleshold’
9. Define language.
10. What is control group in experimental research method?

Q.3. Give brief answers. , 3x10=30)

What is Psycholog,y? Briefly describe its schooh of thouchts
Give a detailed account of types of thinking with examples.
- Explain in detail the types of motives with examples.
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Q.1. Encircle the right answer, cutting and overwriting

is not allowed. (1x10=10)

1. John Watson is considered to be the founder of

a).Structuralism b). Functionalism
¢). Behaviorism d). Gestalt
7 In correlation method, if increase in one variable is correlated with decrease in other variable then
such retationship is as:
a). Positive relationship b). Negative relationship
. - ¢). Inverse relationship _d). Zero relationship _
3. The minimum level of energy which can stimulate any sense organ is known as ”_“____g
a). Threshold b). Absolute threshold
¢). Sensory threshold d). Differential threshold
4. False perceptions are called T
a). Delusions b). Hallucinations
¢) lllusions ' d). Weak eyesight

5 In classical conditioning, the weakening of the conditioned response in the absence of the
unconditioned stimulus is called

- a). Extinction : -b). Acquisition
¢). Generalization " d). Discrimination
6. Physiological deficiency in an organism’s body is called
a). Motive 4 b). Drive
¢). Need d). Primary motive
7. Biologically, emotional changes occur due to 5 :
a). Limbic System b). Pons
¢) Cerebellum d). Thalamus
8. The memory of a specific event or autobiographical information is called:
a). Semantic memory b). Episodic memory
¢). Procedural memory " d). Implicit memory
9. . ~_are the most basic ingredient of thought which comprised of categories of
objects, events or ideas with common properties. ,
a). lmageries b). Cognitions
¢). Languages d). Concepts

10. Doing volunteer work is an exampleof p
2). Extrinsic motivation b). Intrinsic motivation
¢) Social support ~d). Social approval
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Q.1.  Encircle the right ‘answer, cutting and overwriting is not allowed. (1x10=10)

14 The Candle Problem was first describedby L. s B
a) Dunker b) Newell ¢) Moray d) Humphreys
7. The transfer from on problem to is called analogical transfer.
a) Another problem b) its solution c) escape d) none of these
‘ 3. The term ‘Cognitive Psychology” was comedby

a) Neisser b) Tolman ¢) Chomsky d) none of these

4- ~is strongly associated with consolidation-of memories.

a) Hippocampus b) Broca’s Area c) Brain Stem d) Reticular Formation
5 _effect describes that decisions are influenced by how the choices
are stated.
a) Stating b) Framing ¢) Decision d) none of these
6- Schnieder and Shiffrin (1977) indicated that _canbe
. achieved with practice.

a) Selective Attention b) Divided Attention ¢) Covert Attention d)

none of these
1- - proposed that overall experience is determined by combining

basic elements of experience.

a) Functionalism b) Gestalt School ¢) Structuralism d) none of these

8- n1948  talked about cognitive map.
a) Tolman b)Chomsky c) McCarthy d) Watson

9- .Conditioning can resultinto ______memories.
a) Explicit b) Episodic ¢) False d) none of these

10- The process by which short-term memories are converted into long-term

m memories is named as:

a) Shaping b) Retention c) Consolidation d) none of these
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Q.2. Give short answers of the following:

" Q3

1. Draw the flow diagram of Broadbent’s filter model.

2. Why Hippocampus is important?

(U8}

What is primacy effect?

4. What is Wernickes’s aphasia?

wn

What is mnemonic strategy?

6. What is retroactive interference?

7. What is hemispheric specialization? A
8. What is a Geon?

9. What is top-down processing?

10. What is color constancy?

Give brief answers.

[. Write a comprehensive note on Syl]ogis‘m.
2. Explain Linguistic Determination in detail.

|

3.. Write a comprehensive note on long-term memroy.

(2 x 10 =20)

3x10=30)
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I.. The state of mental exhaustion similar to overload is called o
a. Perceived loss of control

b. Learned helplessness
c. Directed attention fatigue

d. Aggression
2. A condition or situation in which environmental stimulation is controlled to a minimum is called

L.

a. Experimental study
b.  Simulation technique
c. Sensory deprivation
d.  Sensory stimulation

Appraising pesticides may invoke perceived threat 1o one’s health can be an example of

2

~~~~~ appraisal.
a. Performance
b. Harm or loss
¢. Challenge

d. Threat

4. Cognitive maps in which environment has become coded in an organized and flexible
representation that resembles a ‘bird’s eye’ view are knownas
a. Spatial maps
b. Sequential maps
c.  You-are-here maps
d.  Way-finding maps
5. Change inresponsc to astimujusis
a. Adjustment
b. Adaptation
c. Acclimatization
d. Habituation

6. » According to Baker’s ecological perspective, those who meet the membership requirements of a
behavior setting and who are trying to become a part of it are called
a. Performers
b. Non-performers
c. Applicants
d. Candidates
Snowfall decreases driving on roads but increases winter Sports is an eA\;hlllple of
a. Determinism -
b. Possibilism
¢. Probabilism
d. Habituation
8. Framing environmental justice issues in terms of discrimination against justice for disadvantaged
groupsiscalled
a. Environmental justice -
b. Environmental equality
¢. Environmental press
d. Environmental racism
9. Procedures or design components that are based on empirical observations rather than opinions or

values are regarded as:
a. Positive theory
b. Normative theory
c. Folk-design tradition
d.  Grand design tradition
10. Spaces that encourages social interactions are knownas
a.  Social [solation
b.  Sociopetal
c. Sociofugal
d. Asocial
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ATTEMPT THIS (SUBJECTIVE) ON THE SEPARATE ANSWER SHEET PROVIDED

(5x4=20)

Q2. (Short Questions) (4 marks each) ) S

Explain the difference between high density and crowding.

What is a cognitive map? Explain its elements. '

Explain the various zones or distances of Personal space.

How Arousal perspective explains environment-behavior interaction?
Briefly explain the effects of environmental stressors.

W B W N

Q3. 5 (Brief Questions) (10 marks each) (3x10=30)

1. What is Environmental Psychology? Explain in detail the future environmental challenges posed
to humanity. '
Explain in the detail the planning and design for human behavior.

3. Explain in detail effects of disasters and human adjustments to it.
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Q.1. Encircle the right answer, cutting and overwriting is not allowed. (1x10=10)
1. _7_:__,.« is defined as a social and rriwarr;ag‘ériawi’ 7processj by whlch individuals and

organizations obtain what they need and want through value creation and exchange.
a. . Advertising
Selling
Marketing
Business . i , ,
Consumer research, product development, communication, distribution, pricing, and
service are all core activities.
Exchange
Marketing
Management
Operational A
Which customer question is answered by a company's value proposition?
"Why should { buy your brand rather than a competitor's?”
"How does your brand benefit me and society?"
"What are the costs and benefits of your brand?"
“What value the company get out of the proposition?”
The concept is aligned with the philosophy of continuous product improvement
and the belief that customers will choose products that offer the most in quality,
’performance,.and innovative features, '
a. Product
bh. Customer
c. Marketing
d. - Advertising .
5. When customers don't know what they want or don’t even know what's possible, the most
effective strategy is marketing. '
a. Customer-driven
b. Customer-driving
Societal
Ambiguous
The set of tools a firm uses to implement its marketing strategy is called the
Promotion mix
Product mix
Marketing mix
Organizational mix
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7. Which of the following p;rovides an answer to these questions: What is our business? Who
are our customers? What do our customers value? What should our business be?

a. Objectives and goals

b. Company Vision

c. A mission statement

d. A business portfolio

8. When compared to consumer markets, business markets are

a. Approximately the same '

b. Smaller

c. Huge

d. Somewhat larger

9. The demand for many business goods and services tends to change more, and more quickly,

than the demand for consumer goods and services does. Thisisreferredtoas

demand.

a. Fluctuating

b. Derived

c. Inelastic

d. Elastic

1

0T

0. Product improvements, product modifications, and original products can all be classified as

. . Pioneer products
New products
Product concepts -
Product ideas
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Q.2. Questions with short answers. (10x2=20)

L What are ;JHI'Q entil‘v;s: of buyingrdociigi;n beﬁbé‘viourisi?ﬂEixipiiaiﬁ themﬁ
. What is product adoption process? Explain its different stages.
. What is customer relationship management (CRM)? Give one example of some company who is
' dbmg CRM.
IV. - Explain the concept of Customer Driven Marketing Strategy.

V. What is market segmentation? What are different parameters to segment a population?

s VI, What is the mechanism to measure the return on marketing investment?
~ VL Differentiate between Micro and Macro environment. Give one example of each environment.
VI Discuss the problems faced in international marketing research, and the strategy to overcome

these problems.
IX. Discuss the new product pricing strategies.

X.  What is competitive marketing intelligence? Explain its sources.

Long Questions (3 x 10 = 30)

Q.3 What do you understand by Price Adjustment Strategies? Explain all the strategies with the
help of relevant examples. (2+8=10) '

Q.4 What is meant by New Product Development Process? Explain each step of this process in
detail. (2+8=10)

Q.5 Define marketing research. Explain the process of marketing research. Describe the process

to use marketing information. (2+6+2=10)






UNIVERSITY OF THE PUNJAB \\Rou NOu 10 Fige vovesmesssseesseons

Third Semester — 2019 \‘\ Roll No. in Words. ........c......
Examination: B.S. 4 Years Program Y

N
N ssassisiseiessevessiassesneveeneie

Financial Management (Basic) TR T
Course Code: BBA-202/BUS-21351 Part-I (Compulsory) MAX. MARKS: 10 . Slonatere of Supdts

)
Ay
A Y

Attempt this Paper on this Question Sheet only. N

. . . N
Please encircle the correct option. Division of marks is given in front of each question. '+

This Paper will be collected back after expiry of time limit mentioned above. Y
Q.1. Encircle the right answer, cutting and overwriting is not allowed. (1x10=10)

1. The long-run objective of financial management is to

a. Maximize earnings per share.

b. Maximize the value of the firm's common stock
¢. Maximize return on investment

d. Maximize market share.

o

. The decision function of financial management can be broken down into the __ decisions.
a. Financing and investment
b. Investment, financing, and asset management
¢. Financing and dividend
d. Capital budgeting, cash management, and credit management

3. A project should be accepted

a. Ifits IRR is greater than the cost of capital
b. Ifits IRR is greater than 0 percent

¢. Ifits IRR is greater than Rs.0

d. Ifits IRR is equal to zero

4. A firm is evaluating an investment proposal which has an initial investment of Rs.5,000 and
cash flows presently valued at Rs.4,000.The net present value of the investment is

a. -Rs.1,000
b. Rs.0

¢. Rs.1,000
d. Rs.1.25

5. Which of the following best describes liquidation value?

a. The price a security "ought to have" based on all factors bearing on valuation.
b. The amount a firm could be sold for as a continuing operating business.

C. The amount of money that could be realized if an asset or a group of assets is sold
separately from its operating organization.

d. The market price at which an asset trades

P.T.O.
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Ananouity which is for  time, called perpetuity.

Aixed
- Uolimited
* None of the above

- Aspecial formy of ownership having a fixed periodic dividend that must be made prior to payment

to ordinary shareholders -
Common stock

Preferred stock

Constlant growth stock
Nouc of the above

The conflict of interest between manageinent and sharcholders is called
Agency issuc

Financial issuc

Critical issue

None ol the above

The formula of debt ratio is:
Total assets / total liabilities
Total Habilities / total assets
Debentures / Total equity

None of the above

e cONrol thie financial activities of the firm.

Controller

. Owner

Treasure

- None of the above
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Q.2. Questions with short answers. (5x4=20)

1. What 1s the money market? How does it work?

2. What is the purpose of cash budget? What role does the sales forecast play in its
preparation?

3. What relationship exists between the size of the standard deviation and the degree of
asset risk?

4. What is meant by the term leverage? How are operating leverage, financial leverage and
total leverage related to the income statement?

5. What is the difference between the vertical merger and the horizontal merger? Explain
with the help of examples.

Q.3. Questions with brief answers. 3x10=30)

1. Zain Industries is in the process of choosing the better of two mutually exclusive capital
expenditure projects namely M and N. The relevant cash flows for each project are given below.
The firm’s cost of capital is 14 percent..

Project M Project N
Initial investment Rs. 28,500 Rs. 27,000 N
Year Cash inflows Cash inflows
1 Rs. 10,000 Rs. 11,000
¢ Rs. 10,000 Rs .10,000
) 3 Rs. 10,000 Rs. 9,000 |
4 Rs. 10,000 Rs. 8,000

a. Calculate each project’s Payback Period.
b. Calculate the Net Present Value (NPV) for each project.
c. Based on above calculations, which project would you recommend?

2. (a) Suppose Rs.1000 bond has a price today of Rs.800, a coupon rate of 4%, and six years
remaining to maturity. If interest is paid annually, calculate the bond’s yield to maturity (YTM)

P.T.O.



to the nearest whole percent using the hit and trial method. Estimate the bond’s YTM using the
approximate yield formula. Compare the two results. Marks 5

(b) Technex common stock pays an annual dividend of Rs. 1.80 per share. The required return
on common stock is 12 %. Estimate the value of common stock under each of the followmg
growth rate assumptions.

1. Dividends are expected to grow at an annual rate of 0% to infinity.

ii. Dividends are expected to grow at an annual rate of 5% to infinity. Marks 5

3. Saeed Corporation is interested in measuring its overall cost of capital. Current investigation
has gathered the following data. The firm is in 40 percent tax bracket.

Debt: The firm can raise an unlimited amount of debt by selling Rs. 1,000 par value, 10 percent
coupon rate, 10-years bonds on which annual interest payments will be made. To sell the issue,
an average discount of Rs. 30 per bond must be given. The firm also pays floatation costs of Rs.
20 per bond. |

Preferred Stock: The firm can sell 11 percent (annual dividend) preferred stock at its Rs. 100-
per share par value. The floatation costs are expected to be Rs. 4 per share.

Common Stock: The firm’s common stock has a par value of Rs. 80 per share. The firm expects
to pay cash dividend of Rs. 6 per share next year. The firm’s dividends have been growing at an
annual rate of 6 percent and this rate is expected to continue in future. The stock will have to be
under-priced by Rs. 4 per share and floatation costs are expected to be Rs. 4 per share.

Source of Capital Weight
Long-term debt 40 %
Preferred Stock 15
Common Stock 45
) Total 100 %

a. Calculate the specific cost of each source of financing.
b. Calculate the weighted average cost of capital (WACC) for the firm based on the above
capital structure.
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1. Primecostmeans: S .
A. All Production Costs B. All Indirect Production Costs (1x10=10)
C. All Direct Production Costs -D. None of the above I -
2. Direct material = Rs. 45,000; Direct wages = Rs. 60,000; Factory overheads = Rs. 90,000; Direct
labour hours = 15,000; Machine hours = 30,000; FOH Applied Rate on the basis of machine
hours =?
A. Rs. 6 per hour , B. Rs. 3 per hour
C. Rs. 1.5 per hour D. Rs. 0.5 per hour
3. * The method of remuneration that links the payment with the hours worked, is called:
A. Time work method B. Piecework method
C. Bonus method D. - None of the above
4. Under which costing method cost of materials is charged to production in the order of
purchases:
A. First-in, First-out Method B. Last-in, First-out Method
C. Average Cost Method D. None of the above
5. Carrying cost = 15%; Ordering cost = Rs. 9 per order; Estimated Annual Requirement = 48,000
units; Cost per unit = Rs. 4. The most economical order size is:
A. 1,440,000 units B. 1,200 units
o 1,440 units - D 12,000 units
6. Journal entry to record the issue of direct material from store is:
A. Material...Dr  Supplier...Cr B. Supplier..Dr  Material...Cr
C. WIP...Dr Material...Cr D. FOH...Dr Material...Cr
7. For an activity level of 10,000 units, Total cost is Rs. 200,000; for 15,000 units, Total cost is Rs.
275,000. Calculate variable cost per unit using high-low method.
A. Rs. 15 B. Rs. 10
 C . Rs25 B D.  Rs.20
8. Under-applied factory overheads occur when: S 7
A. Applied FOH exceed Actual FOH B. Applied FOH exceed Budgeted FOH
C. Actual FOH exceed Applied FOH D. Actual FOH exceed Budgeted FOH
9. Normal working day: 8 hours Basic pay rate per hour: Rs. 5
-Standard time per unit: 4 minutes Bonus payable at basic rate: ~ 50% time saved

.~ On a particular day, one employee finishes 150 units. His gross pay for the day will be:
A Rs. 40 B. Rs. 50

G Rs. 55 : D. Rs. 45

10. niece-work system of remuneration focuses on:

A
A. ’ anlity of output B. . Quantity as well as quality of output
C. Quantity of output D. Neither on quality nor on quantity
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ATTEMPT THIS QSUBJECT IVE) ON THE SEPARATE ANSWER SHEET PROVIDED

Q.2.

Q.3.

Q.4.

Give short answers to the followmg (16&2 20 m:;;ks) :

i Define profit centre.
ii. What is service costing?
iii. What are the components of conversion cost?

iv. What is meant by safety stock? .
V. ~ Write down any three differences in financial accounting and cost accaunting.
vi. What is meant by bonus schemes?

vii. What is a standard cost?

viii. Define semi-variable cost.

iX. Define factory overheads.

X What is the difference between a fixed and a flexible budget?

A company uses process costing. The costs for 2™ department for January, 2019 were:

Costs of units received from 1 department Rs. 20,000
Cost incurred in 2™ department: Materials Rs. 21,816; Labor Rs. 7,776; Overheads Rs. 4,104

During the month, 2" department received 5,000 units and transferred 4,000 units to c o
department. At the end of the month, 1,000 units were in process.

The degree of completion of the work-in-process units was: 50% units were 40% complete and
the balance units were 20% complete.

Required: Prepare cost of production report for the month. ' , {10 marks)

Mudassar Industries has developed the following data to assist in controlling one of its inventory
items:

Economic Order Quantify 1,000 kg
Average Daily Use 100 kg
Minimum Daily Use 80 kg
Maximum Daily Use 120 kg
Lead Time 7 days
Required:
(i) Order level
(ii) Maximum inventory level
(m) Mmlmum lnventory |evel {10 marks)

Followmg are few figures taken from records of Mahnoor lndustry

Material purchased during the month = Rs. 265,000

Cost of goods sold for the month = Rs. 555,000

Factory overhead absorption rate = 75% of direct labour cost

Inventory accounts showed the following opening and closing balances:

January 01 January 31
Material Rs. 15,500 Rs. 20,500
Work in process Rs. 22,750 Rs. 25,600

Finished goods Rs. 28,200 : Rs. 10,350

Required: ) . . ‘
Prepare cost of goods manufactured and sold statement. . % {10 marks)
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Q.1. Encircle the right answer, cutting and overwriting is not allowed. (1x10=10)
1) What is full form of SQL Statement , PR
! a) - Structuring Query List c. Simple Query Language
. b) Structure Query Language d. None of the above
2) Which operator perform Pattern matching
" a) Between c. Exists operator
b) “Liked - d. None of the above
3) Youcanadd a new row using SQL in a database with the following?
a) ADD- : ‘ c. Alter
b) Delete d. Remove

4) Which statement is wrong about PRIMARY KEY constraint in SQL?
a) The primary key uniquely identifies each record
b) Primary key can be made based an multiple columns
c¢) Primary key must be made of any single column
d) Primary key must contain a unique value
5) In existing table alter table statement is used to
a) Delete Column b) Delete Constraint c) Delete Columns d) All of the above
- 6) Wrong statement about the ORDER BY keyword is
a) Used to sort the result-set in ascending or descending order
b} The ORDER BY keyword sorts the records in ascending order by default.
c) The ORDER BY keyword sorts the records in ascending order by default.
d) To sort the records in ascending order, use the ASC keyword.

7) If you want to allow age of'a person < 55 in the column Age of table Person, then which constraint will
be applied to AGE column? '

a) Default b) Check c) Not Null ~d) None

8) To give a temporary name to a table, or a column in a table for more readability, what is used?
a). SQlL Wild Card b)-SQL Aliases ¢) SQL LIKES. d) SQL Comments

9) Logical operators used in SQL are
a). AND, OR, NOT b) && !, ; A#,S,% d) None of above

*10) To specify the number of records to return, which keyword is used
a) FIRST b) TOP ¢) START d) ROW
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ATTEMPT THIS (SUBJECTIVE) ON THE SEPARATE ANsﬂ : R'sm; ET PROVIDED

Q.2. Questions with short answers. (5x4=20)

What is the difference between Sequential file system and Index Sequential File system?
Explain the concept of Entity and Relationship,

What is meant by Referential Integrity?

What is the concept of Primary Key, Composite Primary Key and Foreign key"

\\l Jt st hc concept of ACID plopums of Transaction Ploccssmg;r7

Ea S

N

Q3. Questions with brief answers. (3 x10=30)

1. Normalize thL leen 1ablc up to BNI

INV #.  |-Date I Customer ID Customer Name Product No Description Price ]
b ] 2Dec | Ci1 N Ali&Co - Pl Shirt 500 _'
2 .| 4Dec Cl | Ali & Co , P2 - Pent 1000 |

2. What is the concept of Master Detail Tables explain with example?

3. What is data mining explain with example?
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Q.1. Select the best answer from given option. (1x10=10)

1. A person who organizes, manages and assumes the risks of starting and operating a business to
make a profit is called a(n):
a. Entreprencur
b. Investor
¢. Speculator
d. Small business person

(V]

According to the text, which of the following qualities will increase your chance of succeeding as
an entreprencur?

a. Vision

h. Risk orientation

¢. Determination

d. Al of these

3. Which of the following was not cited as a reason for starting a new business?
a. Independence
b. Challenge
c. Profit
d. [ncrease of leisure time

4. Mr. X is employed in a corporation to launch new products. He is a(n):
a. bEntrepreneur
b. Intrapreneur
¢. Innovator
d. Franchisor

(7]

Which of the following would be included in the business plan?
a. Capital required
h. Marketing plan
¢. Management team
d. All of these

6. The form of business organization that has the largest sales volume is the:
a. Partnership
b. Corporation
¢. Cooperative
d. None of these

P.T.O.



7. Which of the following is an advantage of a sole proprietorship?
a. Ease of starting a business
b. Being your own boss
¢. Pride ol ownership
d. All ol these

8. Organizations in a mobilize their resources toward selling, advertising and
other promotional efforts:
a. Sales orientation
b. Marketing orientation
¢. Product orientation
d. Production orientation

9. The first step in the marketing process is:
a. Identify need
b. Test marketing
¢. Conduct research
d. Build a relationship with customers

10. The two most dominant trends in business are:
a. Downsizing and restructuring
b. Technology and globalization
¢. Strategic alliances and joint ventures
d. None of these
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ATTEMPT THIS (SUBJECTIVE) ON THE SEPARATE ANSWER SHEET PROVIDED

Q. 2 Give Short answers of the following questions:’

1. What is Entrepreneurship?

2. Define estate planning?

3. What points we should keep in mind to study the market?
4. What is S Corporation?

5. Define business process reengineering?

6. What is SMEDA?

7. Enlist stages of product life cycle.

8. What is an idea?

9. Write down any four advantages of corporation?

10. What do you mean by operation planning?

Q.3 Explain the steps or procedure for buying an existing business.

Q.4 Explain the characteristics of entrepreneurs?

Q.5 What is Franchising? Explain the merits and demerits of franchising.

(10x2=20)

- (10)

(10)

(10)
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Q.1. Encircle the right answer, cutting and overwriting is not allowed. (1x10=10)

I. Pectin is an example of

A). Disaccharides B). Polysaccharides
C). Monosaccharides D). Oligosaccharides

2. DNA is the carrier of
A). Ribozymes B). Genetic Markers
C). Nuclear Material D). Genetic Message

3. The protection of an internal environment from the harms of fluctuations is the definition of

which of the followings?

A). Osmoregulation B). Excretion
C). Thermoregulation D). Homeostasis

4. Endoplasmic reticulum (ER) is a complex, - ___membrane system.

A). Two dimensional B). Four Dimensional

C). Three Dimensional D). Ten Dimensions
5. Plants growing in waterlogged soils and aquatic environments contain _____ lissues.

A). Storage parenchyma B). Pseudoparenchyma

C). Aerenchyma D). Chromoplast Parenchyma
6. A NEIVe IS & ~mwemmmeoee .

A). Bundles of axons and dendrites of axons B). collection of neurons

C). Concentration of dendrites and axons D). None of these
7. Thyroid glands Produce ———eemeeoeeeo ;

A). Tri-iodothyronine B). T3, T4 and calcitonin

C). Calcitonin Dj. 'I'etraiodothy_roxn'nc
8. Mitosis is divided into ~--w---o-eooeeeeo .

A). Interphase B). Karyokinesis

Q). Cytokinesis D). Band C
9. Which of these is incorrectly matched?

A). Protoplast- plant cell engineer ing B). DNA polymerase- PCR

C). DNA ligase- mapping human chromosomes D). RFLPS-DNA finger printing
10. Which of the biomass has been increased in area by human activities?

A). Savana B). Grassland

C). Desert D). Coniferous
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ATTEMPT THIS (SUBJECTIVE) ON THE SEPARATE ANSWER SHEET PROVIDED

Q. No. 2: Give brief answers of following questions. (10 x 2)

142 Detine specialized plant ce

What is the Ditference between CNS and PNS?

What do you know about biodiversity? Also define acid rain?

What is the difference between endangered species and threatened species?

Differentiate between dominance and epistasis.

Why Interphase is defi
What is the function of RNA polymerase in transcription?
Define Photoperiodism and its eflects

Write down the names of flower parts with labeled diagram.

Write down main differences between auxins and ¢ ytokinins.

- What is nearon? Draw its structure.

-

30 Define Osmoregulation. Describe Osmoregulation in plants as well as in animals. (10)

0.3 Write a note on Hypothalamas and Pituitary Gland. (3)

Is. Also explain significance of secondary growth. (3)

0. 6: What is a Gene? Also describe how DNA encodes protein structure? (5)

7t Why meiosis is called reductional division and what is its significance? (5)
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ATTEMPT THIS (SUBJECTIVE) ON THE SEPARATE ANSWER SHEET PROVIDED

Q. No. 2: Give brief answers of following questions.i(lhO ;2)7

1. Define Population Genetics.

2. What is the difference between Deforestation and Afforestation?

3. List different types of Ecosystems.

4. Differentiate between Symbiosis, Parasitism and Mutualism. ' '
5. What is difference between rough and smooth endoplasmic reticulum?

0. Dis-tinguish between Osteocytes and Osteoblasts.
7. What are the functions of parathyroid gland?

8. What dre the commercial applications of auxins?
9. How is a seed formed?

10. What are amphibious plants? Write down their main characteristics.

Q. No. 3: Define and draw Cell cycle. (05)

Q. No. 4: Write a note on Succession with its types and stages. (%)

Q. No. 5: Discuss Excretion in Plants (5) _

Q. No. 6: Describe in Detail Mendel’s Law of Segregation and Law of Independent Assortment

with the help of different crosses. (10)

Q. No. 7: Give a comparison of mitosis and meiosis. Also describe their importance. (5)
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Q.1. Encircle the right answer, cutting and overwriting is not allowed.. (1x10=10)

I. Beta pleated sheets are present in which structure of proteins?:

A) Tertiary B) Primary
C) Secondary D) Quaternary.
2. The combination of a pentose sugar with a base forms a cdm}pound known as =-----2=----.
A) Nuclebtide _ | B) Nucleoside
C) Phosphoric Acid ‘ D) Nucleic Acid

. Which type of evolution refers to change within population? -

(U]

A) Macroevolution B) Organic Evolution

) Micréevolﬁtion D) None o;vthese
4. Darwin’s theory, as presented in “The Origin of Species”, mainly concerned

A) How adéptations évolve ' B) The origin of life

C) How new species arise D) The genetics of evolution
5. Sele;tion acts directly on " s "

A) The entire gene pool ‘ B) Phenotype

C) The entire genome , . D) Genotype
6. Mannose and Galactos:e are l‘he.examples of? |
A) Trioées © " B) Tetroses
C) Hexoses D) Pentoses
7. The metabolic wastes that are ingested into the body and must be removed are ---------- :
A) Pesticides B) Drugs
C) Food Additives ‘ D) All of these

8. Brain is protected by

A) Skull B) Orbits
~_C)Cranium I D) All of these R
O are three main parts of the gynoecium in a {lower?
A) Filament, stigma, ovary B) Stigma, style, ovary
C) Anther, connective, filament D) None of these

10. Separation of homologous chromosomes occurs during - mmmmmmmeoeee .
A) Prophase B) Metaphase

C) Anaphase D) Telophase
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Q.1. Encircle the right answer, cutting and overwriting is not allowed. (1x10=10)

a. Cafbéhydrates arerpresent in plasma membrane in the form of:
1. Starch ii. Cellulose
1il. Hemicellulose iv. Glycolipids

b.  The main function of Golgi complex is
1. Translocation 1. Fermentation
iii.  Glycosylation iv.  Phosphorylation
¢. Protein essential for chromatin formation is:
s Actin il. Tubulin
1il. Histone iv. Myosin
d. The functions of peroxisomes are:

1. Synthesis of glycine

ii. Synthesis of serine »

iii. Protection from toxic effects of hydrogen peroxide
iv. All of the these

e. The two organelle responsible for cytoplasmic inheritance among eukaryotes are:

i. Lysosomes and Mitochondria

1. Mitochondria and Golgi complex
11i. Chloroplast and Mitochondria
iv. Chloroplast and Lysosomes

f. Light reactions take place in:
i Grana ii. Stroma iii. Thylakoids iv.  Quantasomes

g. Nucleolus helps in the formation of:

i. r-RNA i.  mRNA Qi tRNA iv.  Golgi body
h. The monomeric units of DNA are:
1.  Proteins il. Nucleosides 111 Nucleotides
1v. Purines and Pyrimidines
1. The term heterosis represents:
1. Hybrid incompatibility il. Hybrid vigour 1il. Hybrid sterility
1v. Structural hybridity
J- Introduction of foreign genes for improving genotype is called:

1. Vernalization ii. Tissue culture iii.  Biotechnolo gy

tv. Genetic Engineering
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ATTEMPT THIS (SUBJECTIVE) ON THE SEPARATE ANSWER SHEET PROVIDED

Q.2.  Answer the short questions. (10x2=20)
i. Define Cell theory.
ii.  Whatis the difference between Simple and Facilitated diffusion?
ili. What are Leucoplasts ? Mention their functions.

iv.  Differentiate between Prokaryotic and Eukaryotic ribosomes.

V. What are Peroxisomes? What is their function?

Vi. What are the different types of RNA and their functions?

vii. ~ What is Transduction?

viii. What are Cytoplasmic inclusions?

ix. Differentiate between Population and Community.

X.  What is Synapsis?

Q.3. Answer the long questions. 3x10=30)
7 1.7 a.w V;}hazis th‘c;(n:;mm1;1*c;r11\p(\)s1t10noti Cell membrane? - o (5) B
b. Describe the ultrastructure and function of Chloroplast. (8)
2. a. Write a short note on Lac operon. ©6)
b. Explain the Transduction in bacteria in detail. (9)
3. a. Differentiate between Test cross and Back Cross and their importance. 7

b. Explain with examples Duplication and Deletion. 8



-
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Q.1. Select the best answer from given option. (1x10=10)

a) LH Qureshi

b) Waheed-ud-Zaman
¢) Muhammad Ali Ch.
d) D) None of others

[N

Which mountain range is located between China and Pakistan:

a) Siwaliks

b) Hindu Kush Range
¢) Great Himalayas
d) None of these

3. Who was the first president of Constituent Assembly of Pakistan?

a) Quaid-c-Azam
b) Liaquat Ali Khan

- ¢) -Sikandar Mirza
d) None of these

4. When Indus Water Treaty was signed between India and Pakistan?

a) 1960
b) 1962
¢) 1969
d) None of these

5. In which constitution the presidential and parliamentary system at centre and provinces were :
adopted respectively?
“a) 1956
1962

¢) 1972 g - L ST S , A
d) 1973

PT.O.



6. écco}ding to 1973 constitution who elects Prime Minister?

(a)
(b)
(c)
(d)

Senate

National Assembly
President

Provincial Assemblies

7. What is the other name of Mohammad Ali Bogra Formula?

(a)
(b)
(c)
(d)

New Law of Pakistan
Pakistan Report

Third Report
Constitutional Formula

8. ISAF stands for -=----eeeeccceeeee

9. Who was the Prime Minister of Pakistan during enforcement of first constitution?

(a)
(b)
(c)
(d)

Mohammad Al Bogra -
Khwaja Nazim Uddin
Choudhry Mohammad Ali
Ibrahim Ismail Chundrigar

10. What official name was given to Pakistan in 1956 constitution?

(2)
(b)
()
@

United States of Pakistan
Republic of Pakistan
Islamic Pakistan

[slamic Republic of Pakistan
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ATTEMPT THIS (SUBJECTIVE) ON THE SEPARATE ANSWER SHEET PROVIDED

Q.2. Give short answers. (4x5=20)

i. Social media usage and its consequences with references to Pakistan.
-J.Juﬁd_zl:‘ﬁa!}!mdb&lLgfydﬁr%u% i
ii. Write a note on CPEC.
S el s

ISP IS () R

iv.  Describe Baluchistan issue with respect to recent developments.

-u:’ﬂ utgjgziuégdua;mw;zrwuta): dv

iii.  Write a note on national action program.

Q.3. Give answers of the following questions. (3x10=30)

i. How corruption can be managed in Pakistan?
te T AU S R

ii. Evaluate the significance of water conflict between India and Pakistan in global
perspective of climate change.

-uf.‘j eJ 4o LB&;L!?L&W Lgkwuu@: S AL dblniy i
iii. = Nawaz and Modi relationship with respects to China policy toward both countries.

-Q/&LMLLU’LU'!&A'G/”G—JVU)’)Jgﬂg{:J}Jl}QWZ—dJ}”J)UU Jii
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ATTEMPT THIS (SUBJECTIVE) ON THE SEPARATE ANSWER SHEET PROVIDED

Q.2. Give short answers. _ (4x5=20)
i. Define citizen journalism? Please enlist its major types?
ii. Describe concept of two steps flow of communication?

iii.  Describe inverted pyramid?
iv.  Briefly discuss the concept of band wagon?

Q.3. Give answers of the following questions. (3x10=30)

i. Define mass communication. What are its different elements and how they differ from
interpersonal communication?

ii. Analyze the effects of private TV channels morning shows on Pakistani young women?

iii.  Define concept of development media theory? How can this concept make media role in
Pakistan more beneficial for the society?

Ul el 2Ly
‘U)w/w/d/(ww‘fw J/J/’J_w‘d/w 0
LI D Pl i -
LIS -

VL[/UQJ!‘;KJZX{ -

LSk 34Ul
awf Jcc/’u/ w'wciﬁéﬂvwéwwﬁ.ﬂ/&uw %
Vu*a,y_,dfc:,
Fe | /!/u’!fu’f}’d/utf LLJrJJLLWd;duy!/LuM Lr
‘U‘Jo/ta
/u/aiwéumc,c}ufﬂ SISl e QS
?a_uﬂu/rd.&. /b»dl/ L
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Q.1. Select the best answer from given option. (1x10=10)

1. PEMRA stands for .............
A. Pakistan electronic mechanism regulatory action B. Pakistan electronic machine regulatory
assembly :
C. Pakistan electronic media regulatory authority D. Pakistan election media regulatory
authority

r

Facebook was launched in .............
A. 2010 B. 2000
C. 2002 D. 2004

PTYV was established in .............
. 1964 B. 1955
S 1965 D. 1971

Qp @

First movie was screened in .............
1899 B. 1900

1895 - D. 1889

op e

............. manages information and media relation of Pakistani federal government.
A. B. Rental media :
. DGPR D. Syndicate

O > N
55,
—
O

6. Noise produced because of cultural differences is called .............
B. soft noise B. environmental
(". mechanical D. semantic

7. In Laswell’s model ‘what’ stands for .............
A. feedback B. receiver
(. message D. sender

8. Bab-e-sahafatisthe title of coooevvivriinninenn

A. Maulna Muhammad Ali Joher B. MajeedNizami
C. Maulana Zatar Ali Khan D. Hamid Mir

! R — theory justifies government control over press.
A. Authoritarian press B. framing ’
C. Libertarian D. social responsibility

10. Idea of global village was coined by .................
A. Bill gates B. Murdock
C. Steve jobs D. Marshall McLuhan

P.T.O. FOR URDU VERSION
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1. Which of the following statement is most suitable to an SN reaction?

I) The rate limiting step of the reaction involves the alkyl halide and the nucleophile.

II) The order of reactivity is methyl > 1 > 2 > 3 (i.e., methyl is most reactive)

[I) The rate limiting step of the reaction involves only the alkyl halide.

IV) Attack of nucleophile on substrate from rear would give product with inverted -
configuration.

(0]

. Conversion of an optically active compound into an equimolar mixture of enantiomers is
known as:

(I) Tautomerization  (II) Racemization (IIT) Epimerization  (IV) None of them
3. How many stereoisomers are possible for given compound?
o]

|
|

CH
4)) 12 (ID 8 (1IT) 4 (IV).16

4. What is the stereochemical relationship between the following two molecules?

Br

Lo,

CH;

I) Geometrical isomers IT) Enantiomers [II) Diastereomers  IV) Identical

5. Which set of hybridization states of C1, C2, and N of the following molecule is correct? .

1 2 .
\ /N F 1

(I) C1 sp%, C2 sp®, N sp? (I) C1 sp?, C2 sp? N sp®
(IIT) C1 sp?, C2 sp?, N sp? (IV) C1 sp?, C2 sp?, N sp?
, o .

P.T.0.



6. Which of the following is not a meta director.
(DCN (II) OH (III) COOH (IV) CHO

7. How many pi molecular orbital are present in molecular presentation of benzene.

(D8 (IH2 (1ID) 4 V) e
8. The reaction of benzene with an acid chloride in presence of lewis acid as catalyst 1s known as
(I) Perkin Raction (II) Friedel Craft acylation
(III) Wurtz reaction - (IV) Williamson’s synthesis

9. The oxidation of isopropy! alcohol with Cr30 in Glacial CH3COOH would yield

(I) Propane (II) Propanol (ITI) Propanone (IV) Propanoic acid

10. Which one of the following molecules has a dipole moment?

MCS: - (II)CHCl (1) CCle (V)02
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ATTEMPT THIS (SUBJECTIVE) ON THE SEPARATE ANSWER SHEET PROVIDED

Q2. Give brief answers to the following questions.

(1).Why aniline is less basic than cyclohexylamine (2)
(2) Explain Torsional strain with example, (2)
(4) Why ethanol has higher boiling point than that of dimethyl ether. (2)

(5) Draw all conformers of I-tert-butyl-4-methylcyclohexane and point out most stable

conformer and give reason. 4)
(6) Why tertiary alcohol reacts with HBr faster than secondary alcohol. (2)
(7) Why o-hydroxybenzoic acid is more acidic than p-hydroxybenzoic acid. (2)
(9) How will you convert C;HsBr into propane. (2)

(10) How could you differentiate between nonaromatic and antiaromatic by huckel rule. (4)

Q3. (a) How will you convert followings. (6)
(1) vic-dihalide into 1-propyne (i1) 2-butene into cis-butane-2,3-diol

(iii) Prop-1-ene into propane (vi) Prop-1-ene into 3-bromoprop-1-ene

(v) Prop-1-ene into 1-bromopropane (vi) Ethylene oxide into l-propanol

\k) Design suitable syntheses of the following compounds starting from benzene. Show all the

steps in each case. (6)
(' Benzophenone (ii) 4-bromo-3-niicohenzoic acid (ii1) Phthalic anhydride
(¢) Explain the difference between: - (8)

(1) Conjugation and hyperconjugation
(i) Resonance and tautomerism
(i11) Constitutional isomerism and Stereoisomerism

(iv) Center of symmetry and axis of symmetry

(d) Explain SN1 mechanism with examples. (5)

(e) Draw both the geometrical isomers for the following compounds and assign Z or E to each of
them. (5)

(1) 2-pentene (11) 3-methyl-2-pentene (111) 2-Jodo-2-butene

av) lr-Bromo-l,2—dichloroethylene (v) Maleic acid
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Q.1. Encircle the right answer, cutting and overwriting is not allowed. (1x10=10)

. R v

1. Which of the following ébrribdund would not show hydrogen bonding.

O CszNHz (I1) C2Hs0C,H;s (1ID) C2HsOH (IV) C;HsCOOH

. 2, Which of the following conformers is least stable?

CHj, H :
H._H H._ _CH;,
H \d ! ) H,C~ \H
CH; CH)\ CHs » \1&@:13 3 CH,
H H ) H H ' H™ H H H

@) (I ' M av

3. Which of the following symbol is used to represeim principal quantum number?

OY (Mn (D m (IV)s
4. Which of the following group exhibit positive inductive effect (+1I).
1) -CHO ) Cc=0 1 -CN - (V) SiRs

5. A correct [UPAC name for the following compound is:

N

i

/w/\i/\
OH Cl
(I) 4-propyl-5-chloro-heptan-3-ol (I1) 4-propyl-3-chloroheptan-5-ol
(11I) 4-(1-chloropropyl)-heptan-3-ol (IV) 5-chloro-4-propylheptan-3-ol

6. Which pair of groups contains both ortho and para directing group.

(I) NHz, CN (IT) NHa, N(CH3):  (III) COOH, OH (IV) N(CH3)s, CHO

7. Which of the following reagents would be the best reactants for the following synthesis.

0
(I) CH30CHs, AICI3 (II) CH;COOH, AlCl3
(III) CH3CHO, AICI; (IV) CH3COCl, AlCl;

8. How many Number of lone pair of electrons occupied by oxygen of water molecule are
(I) one : (_U) Two (I11) Three (1V) Four
9, Williamson’s synthesis is method for the preparation of .................
(1) Alcohol (11) Ester (H’i) Ether (IV) Carboxylic acid
le. An acid chloride react with hydrazine ic yield a. ..... T

? (I) Hydrazone

(Il) Oxime  -lil) Hydrazide. (IV) sami carbazone
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ATTEMPT THIS (SUBJECTIVE) ON THE SEPARATE ANSWER SHEET PROVIDED

Q2. Give brief answers to the following questions.

Explain and illustrate Sp, Sp2 and Sp3 hybridization with examples.
How will you prepare 2-phenylpropan-2-ol from acetone.

Why chloroacetic acid is more acidic than acetic acid.

Why acetamide is a weaker base than methylamine. ~

Why and how nitro group is deactivating and meta directing.

Define hyperconjugation with examples.

Explain why SO; is a polar molecule while COz is a non polar molecule.

- R

Why diethyl ether would not show hydrogen bonding.

Q3 (a) How would you dlstmgmsh between Primary, Second'uy and tertlary alcohols by
chemical tests and write chemical equations.

(6)
)
2
2)
2)
(2)
(2)
(2)

(6)

(b) Design suitable syntheses of the following compounds starting from benzene. Show all the

steps in each case.

(1) 2-chlorobenzoic acid (i1) 1-methyl-3-nitrobenzene (iv) Benzophenone |
(¢) Draw the structures of the following compounds.
1) spiro[4,5}de_cane ‘ (i1) 3-ethy_l—4-isopf0pyl-l—heptene
(i11)1,6-dimethyl cyclohexene | (iv) p-methylanisole
. (d) Write different methods for preparation cycloalkane.
(e) Describe different methods for resolution of racemic mixtures.

(f) Give a comparison of SN and SN reaction.

(6)

4

'MAX. TIME: 2 Hrs. 45 Min.
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Q 1. ENCIRCLE THE CORRECT ANSWER (1*10) i g teaen 10

1. Bonds with the issuing corporation may pay off before the scheduled maturity date are
called:
a) Callable bonds.
b)  Serial bonds.
c)  Convertible bonds.
d) Debenture bonds.
2. Which of the following is not a characteristic of corporate bonds?
a)  Ahighly liquid, transferable investment.
b)  Hasa specific maturity date.
c)  Represents ownership of the issuing corporation.
d) Paysinterest, usually semiannually.
3. When a corporation declares a cash dividend on common stock, which of the following
should be excluded in determining the total amount of the dividend?
a) Sharesissued in exchange for preferred stock.
b)  Shares held by officers and directors.
c)  Shares held by other corporations.
d)  Shares acquired and held in treasury.
4. If salesincrease by 10% from Year 1 to Year 2 and cost of goods sold increases only 6%,
the gross profit on sales will increase by: :

a)  4%.
b) 10%.
c) 6%.

d)  Some other percentage.
5. An acquisition is the same thing as:
‘a)  An amalgamation.
b) A takeover.
c) A merger.
d)  Aspin-off.
6. Mybank Ltd merged into Summit Bank, what kind of merger was this?
a) Horizontal.
b)  Vertical.
c)  Joint venture.
d) Conglomerate.
7. The first item in order of payment to be made by the hqmdator is:
a)  Secured creditor.
b)  Preferential creditor.
c) Liquidation expenses
d)  Debenture holders.
8. In liquidation process a contributory is:
a)  Acreditor.
b)  Ashareholder.
c)  Adebenture holder.
~d) Aliquidator. - A
§. If the total of the fair value of assets acquured is Rs 100 000 and the amount of purchase
consideration paid is Rs 110,000, the difference should be treated as:
a) Loss on acquisition. '
b)  Goodwill.
c)  Acquisition expense.
d) Negative goodwill.
10. Which of the following is the method of valuing of shares?
a)  Super profit method. '
b)  Average profit method.
c)  Fairvalue method.
d) Yleld valuatlon meth d
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ATTEMPT THIS (SUBJECTIVE) ON THE SEPARATE AN_ SWER SHEET PROVIDED

Q2: Give short answers to the following questions: (2*10) 20
1. "Define bonus shares. »
2. ‘Write down the formula of value of right.
3. Describe the usefulness of statement of cash flow.
4. What is the formula of calculating the gross profit percentage?
5. -What are synefgy benefits under amalgamation and absorption?
6. Define negative goodwill. . R _
7. What are main items that appear on the debit side of p_rbfit & loss appropriation account?
8. What is the yield valuation method for the valuation of shares?
9. How treasury stock is reported in the stockholders’ equity section of the balance sheet?

10. What are the modes of winding up of joint stock companies?

Q 3: X Company performs adjusting entries every month, but closes its accounts only at year
end. The Company’s adjusted trial balance dated December 31, 2017, appears below. (Bear in
mind, the balance shown for Retained Earnings was last updated on December 31, 2016.)1'"77{55
X Company =T
Adjustedw Trial Balance
December 31, 2017

$ $

Cash '- 171,100 '

Account receivable 9,400

Prepaid Rent ‘ 3,000

Unexpired Insurance 7,200

Supplies e : o 500

Equipment 18,000

Accumulated Depreciation: equipment - 7,200
Notes Payable 40,000
Accounts payable ' ' ' 3,200
Salaries Payable _ 4,000
Income tax payable , ‘ 6,000
‘Unearned revenue 8,800
Capital Stock ) 100,000
Retained Earnings 40,000
Dividends 6,000

Revenue Earned ' 165,000
Salary expense . 85,000

Supply expense 3,900

Rent expense l-2,00d

Insurance expense 1,900

Advertising expense 500

Depreciation expense- equipment 1,800

Interest expense. ' 900

Income tax expense 23,000

| 344,200 344,200

— e 0.




Required: _
Prepare an Income statement and Balance sheet dated December 31, 2017.

Q 4: A joint stock company was registered with an authorized capital of Rs 5,000,000 divided
into 500,000 shares of Rs 10 each. On 1%t November 2017 the company issued 350,000 »sbgfgg _
with following details: ’ (15)

50,000 shares were issued to promoters towards preliminary expenses.
100,000 shares were issued to directors of the company for cash.
200,000 shares were issued to the general puBlic.

On 20 Novembér 2017, the company received applications for 300,000 shares. Shares were not
allotted to applicants of 100,000 shares, therefore their application money was refunded. ’

Required: Record the above information in the books of the Company and show the figures in
the Balance Sheet. . : ‘ ;
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Q.1. Enclrcle the right answer, cuttmg and overwriting is not allowed. (1x10=10)

1. E xum lary damages are awarded to: _
a) To compensate aggrieved party .
b)  Not to compensate aggrieved party.
c) Burden of proof
d) Non-profit organizations

2. An expressed contract is a contract when terms of contract are:
a) Created with conduct of parties. b)  Not properly explained.
c) Unenforceable d)  Black & white.

3 In an executory contract:
a) Terms of contract are clear.
b) Contract is written.
¢)  Some obligations remain to be fulfilled.
d) None of these

4. An agreement between two firms to avoid competition is void because it
creates:
a) Competition b)  legal complication
¢) Uncertainty. d)  Monopoly

5 An agreement not enforceable by.law 1s said to be:
a). . None of these. - b)  Voidable contract
c) Void contract d)  Void agreement

6. It is not necessary that the consideration must be equal to the value of promise.

a)  Agree b)  disagree
c)  Neither agree nor disagree. d) None of these R

P.T.O.




-1

Y.

!

{

).

Ratification means.

a) Acceptance ol olter b)  Refusal of ofter
¢)  Correction of agreement. d)  None of these.

- An agreement with a person of unsound mind is;

a) Doubt tull agreement.
b) Void agreement.

) Accepted by law.

d) Nonc of these.

Which ol the following statement is true?

al Sale of Goods Act applies to the whole of Punjab.
b Sale of Goods Act applies to the whole of Sindh.
C) Sale of Goods Act applies to the whole of Baluchistan.

d) None of these.

{

Contineent goods are:

a) Available at the time ol contract. b)
¢) None of (hese. d)

Future goods.

Lxisting goods.
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ATTEMPT THIS (SUBJECTIVE) ON THE SEPARATE ANSWER SHEET PR(‘)VIDE'D

(2 X 10 =20 MARKS

Q2. ANSWER THE SHORT QUESTIONS:

L. Explain void agreement with an illustration.

i, Clarify the contingent contract with illustration.

i Dcvl'mc performance of contract.

iv.  Explain adequacy of consideration.

V. I:laborate undue influence with example.

vi.  bxplain the position of acceptor if letter of acceptance is lost.
vil.  Explain coercion.

viii. - Explain counter offer with example.

1. Explain invitation to offer.
o Briefly explain implied contract.
Q3. ANSWER THE FOLLOWING LONG QUESTIONS: (3 X 10 =30 MARKS)

[. Differentiate between contracts of indemnity and guarantee.

2. Describe -the essentials of bailment with help of illustrations where

necessary.

Explain the following essentials of contract with an example.

L4

L. Possibility of performance.
ii.  Not expressly declared void.
iii.  Capacity of parties.
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Q.1. Encircle the right answer, cutting and\,overwriting is not allowed. - (1x10=10)

i On 14“‘ August Pakxstan Govemment adopted the Income Tax Act
a) 1918
b) 1921
c) - 1922
d) 1944
i, Which one of the following includes Aormultulal [ncome
a) Income from fisheries
b) Land revenue assigned to jagirdar
¢) Income from flour mill
d) Income from markets !
iii,  Personal insurance premium expenses incurred by taxpayer are entitled for
a) Rebate at an average rate of tax
b) Deduction from tax
¢) Deduction from total income
d) None of the above
iv..  Property income includes
a) Profit on sale of property
b) Rent chargeable to tax of property let out
¢) Annual letting value of property self -occupied
d) None of the above
V. Return/of incore u/s 114 shall be furnished by compames with tax year ending on or between 1% day of
Janudry and 50 day of June by
' ‘1\) ZU‘h u
b) ~30" Sepiembel
¢) 31° August
d 315 December

| S - = = ———

vi. The following pexcenldg,e of lotdl income of mdmdual is allowed as domtxons to <1ppxoved
__ charitable institutions u/s 61.

a. 20%
b 30%
©40%

vil.  Per sonal legal expenses incurred by mdlvndual ta(payer are entitled for:
= a. Rebate at an average rate of tax
b.. Deduction from tax
¢. None of the above

vili.  Advance rent un-adjustable is included in Rental Value of Property upto:

! a. 14"
b 15"
o c.. 110"
iX. A person is known as salary person when his/her income

a. Less than 50% from taxable income
b. Equal to 50% from taxable income
-c.  More than 50% from taxable i income

X Nanate the following abbreviations }
- a. FBR
b. NTN __
c. MTS

_d. CNIg,
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ATTEMPT THIS (SUBJECTIVE) ON THE SEPARATE ANSWER SHEET PROVIDED

Q.2. Questions with short answers. 5x4=20)

a) Deﬁne the term “Td\pa\ er’” w 1th refelence to Income Tax Oidmance 2001 k
b) Explain the legal provisions regarding exemption of “Profit on Debt” under Income Tax Ordinance 2001.
¢) Briefly elaborate the feature of appeal to Appellate Tribunal
~d) Explam the cond'ncns and rates regardmsz mmal deprecmtlon

Q 3. Questions with brief answers. (2 x15= 30)

Q No 03 From the fol!owmg data calculate the tax payable by Mr Gulralz for the year er ended 30"‘ June 2018
. -a. Basic Salary Rs. 42,000 p.m.
b. Bonus for the year Rs. 5000.
c. Conveyance allowance Rs. 4,000.
d. Income from fish catching business Rs. 20,000
e. Special allowance Rs. 12,000.
f.  Cost of motor vehicle Rs. 500,000. Vehicle provided by employer for both purposes.
g.  Accommodation provided in big city by the employer, Rent entitlement Rs 220,000.
h. Contribution to recognized provident fund by employee Rs. 35,000
i, Contribution to recognized provident fund by eémployer Rs, 35,000
j.  Interest received on accumulate balance @ 20% Rs: 20,000.
k. Zakat paid under Zakat Ordinance durmg the year Rs. 20,000.
I.  Agricultural income Rs. 80,000
m. Qualification allowance Rs. 15,000
n. Tax deducted at source from salary Rs: 20,000.
0. Donation to University of Sahiwal amounted to Rs. 25,000.
p. Property income Rs, 320,000
q. Prize on prize bond Rs. 50,000
Extract of Rates of Tax for salaried persons for Tax Year 2018

1. Upto Rs. 400,000 . Nil-

2. | Rs. 400,001 to Rs. 500,000 2% of the amount exceeding Rs. 400,000

3. | Rs. 500,001 to 750,000 Rs. 2,000 + S % of the amount exceeding Rs. 500,000
4. | Rs. 750,001 to 1400,000 Rs. 14,500+ 10 % of the amount exceeding Rs. 750,000

 Extract of income tax rates for separate block of property income for tax year 2018
1. | Upto Rs. 200,000 Nil
2. | Rs.200,001 to Rs. 600,000 5% of the amount exceeding Rs. 200,000

Q.No. 04: Why is the distinction between capital and revenue important from income tax viewpoint? Briefly explain six tests
for differentiating capital and revenue receipts.
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i. The primary functions of 2 commercial'bank are

a. Receiving utility hills 4
b. Accepting deposits and advances loans :
c. Issuance of ATV and Credit cards
d. Receiving Hajj applications
i Generally, the regulatory body for banking system in a country is
a. Central bank
b. Commercialbank
c. .Investmentbank
d. -Agricultural bank
iii. IMF stand for
a. Internationa!l Monetary Finance
& ' b. International Monetary Fund
: ¢. International! ial Fund
d. Immediate Monetary Feedback
| v, The money in document form with value stated on them but having no value in them
a. Metallic Money
b. Commodity Money
¢. Paper Money
d.. All of above
V. The method of not issu= ir which a fixed limit is not backed by any reserve and beyond that limit notes issuance is
. backed by 100% gold/r=serves
< a. Fixed Fiduciary System

b.  Proportional Reserve System
C. Makimum Reserve System
d.  None of these
vi. “Lender of last resort” in banking sector is referred to
’ a.  Centraf Bank
b. Islamic Deveicpment Bank

c.  Asian Development Bank

d. IMF

vil. Deposit which can be withdrawn by the depositor at any time by cheques
a. Current deposit
b.  Fixed deposit

¢. Term deposit

§
! d. None of the above

. viii. Fiat money is

i a. Backed by goic

; b.. Includes currency-and gold stored in bank
i c.  Atype of mon=y that has no intrinsic value

d. *None of these

iX. Inflation is a situation is which
a. Degcrzase in purchasing power
b. Decrease in price level

€. Agiven quantity of money purchases a large quantity of goods

d. None of the:above
X. Supply of country’s products to the foreign countries
a. Exparts
b. “Imports -
¢. Retail trade
d. Home trade _
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ATTEMPT THIS (SUBJECTIVE) ON THE SEPARATE ANSWER SHEET PROVIDED

Q. 2. Provide short answers to the following questions. (lbx 9= 20)

i. Briefly explain principles of note issue
ii.  Whatis intrinsic value
jii. Differentiate three points between money and currency

iv. List down the causes of inflation
V. What is meant by index numbers
vi. Elaborate recession
vii. List down sources of debt financing
viii. Differentiate between pledge and mortgage
X Define commodity money

X List down quantitative tools of monetary policy by ce'ntral bank

Questions with brief answers (3x10=30 marks)

Q. 3. Provide brief answers to the following questions.

i.  How the value of money is determined under demand and supply mechanism? Explain.
ii. Differentiate between interest based and interest free banking systems
iii. Briefly explain types of deposits being offered by commercial banks.
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1. Which component is responsible for convemng byte code into machine spec:flc code?
a. a)JvMm b)JDK : c)JlT o d)JRE IRy '

2. Which of the below is rot a memory leak sol'u'tion‘?_"',."
a. a)Code changes " b) JVM parameter tuning
b. c) Process restart d) GC parameter tuning

3. Which of these interfaces is implemented by Thread class? A e e S
a. a)Runnable ~ b) Coninections “¢)set ' d)MapConriections

4. Which tag should be used to pass information from JSP to included JSP? - -
a. a) Usmg <%Jsp page> tag “b) Using <%jsp:param>tag. =
'b. ) Using <%jsp:import>tag d) Using <%jsp:useBean> tag -

5. ‘Whatisit called where child ObJECt gets kllled if parent object is kllled?
a. a)Aggregation b) Composition
b. c)Encapsulation d) Association

6. Statements of JdavaScript function are enclosed in.

a) { & by [&] c) (&) d) None of these

7. Which of the following is server side programming languages?

a) VbScript b) JavaScript ¢) ISP d) H'TML

8. What kind of programming language is Java?

a) Object-oriented programming language b) Relational programming language
¢) Sixth-generation programming language d) Database management language

9. The Extension with which web documents are saved is

a).class - b) .c ¢) .html d) .css

10. The <br> tag is used to add

a) Long break b) Line break c) Braces d) All of these






Q.2. ~ Answer the following short questions. (514—20)

i.

ii.

] tht is the dlfference between flnal ﬁnahze and fmally as per JAVA?
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How do- you create links to sections within the same web page'p

Write an HTML table tag sequence that outputs the following: ’vy
150 pcs 1100 1500 ‘
110 pcs 15 150

- How do you create a link that will connect to another web page when clicked?

What are two types of Web Storage in HTML5?

Q3.. Answer the followmg Long questlons. (3x10=30)

Ji.

iii.

An ,mdgldm is a word or a phrase made by transposmg the letters of another

word or phrase; for example, "parliament’ is an anagram of "partial men," and
‘software" is an anagram of "swear oft." Write a JAVA program that figures out
whether one string is an anagram of another string. The program should ignore

white space and punctuation

For each of the following pairs of concepts that are used in Java explain
similarities and differences and discuss when you would use one rather than
the other. If there are important syntactic differences, method names, degrees
of generalization possible or the like, then any code fragments you give in

illustration should be as short as possible to make the desired pomt

(a) JApplet and simple Java applications.
(b) Vector<String> and arrays of strings (String .

(c) class, abstract class and interface.

What is JDBC Connection? Explain steps to get Database connection in a

simple java program and also write the java code as example.
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Q.1.  Encircle the right answer, cutting and overwriting is not allowed. , (1x10=10)

i. . Which one of the following is not used for sending an online message?
(a) facebook (b) skype (c) gmail (d) google
il. Decimal number 74 has its equivalent binary that is equal to:
(@ 1 () 1010101 (¢) 1000101 (d) none
iii. For A = pi r*r; which of the following is true in C++:
(a) Your variable: A (b) Your variables: A, r (c) Your variables: A, r, pi (d)
your variables: true
iv. Which of the following is true for a variable name to calculate sum of two numbers
(a) sum (b) sum(a, b) (c)sum=a+b (d) both b and ¢
V. il'a=4; and b= §; then which of (he following is true for a++: and ++b ;
(a)ais4, biss (b)ais S5, biss (¢)ais 4,bis6 (d)yaiss5, bis6
vi. The file extension of a presentation program is:
(a) .ppt (b) .txt (¢) pdf (d) .doc
vii. In case of while loop, itis: -
(a) fixed iterations loop (b) condition control loop (c) easy loop (d) incremental
Vil ifk=9, then Kk++ will give:
a)9 (b) 10(c) 11 (d)12
iX. you can run C++ in :
(a) mobile (b) computer (c) laptop (d) both b and ¢
x. forinta=2.09; cout<<a; will give you:
(@) 2(b) 2.9(c) 3.0 (d) All
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Q.2. Write short answers of the following Questions:
' 20= 4x5
I | What is the difference between input device and tactile input |
devices? Write an algorithm to calculate y such that (e.g., y =4x%)
2 | Give decimal equivalent of binary number: 1000111,
| 3 | Differentiate between int and float in C++computer and write
£ examples for each.
l |
4
Write program to print out product of first five integers.
|
5 | Comment on the following in C-++: selection and repetition (loop).
! . ; ;
Q.3. | How the steps input, process and output are graphically shown in a 10
| flow chart? Differentiate between an algorithm and a flow chart?
| ’ Write an algorithm to calculate and print ¢ such that ¢ = (a + b)(a-b).
|' .
1 Write C™" program to print a number, its square and cube such that
the numbers are from 1 to 500, How you can print only odd numbers )
f in the above series? ‘ (
R L - o L |
f Q.4. | Write program to read from the user a value of t and prints out y1, 10 N
| ! ¥2 and y3 in C++ such that:yl = sin(2t), y2=cos(4t) and y3=y|+y2
‘ . ++ . N [
} J’ Write C™ program to print the table of number 5. '
| Q5. } T 10
| Write program to read from the user a value of a resistance R and -
| current I and prints out values of voltage V and power P such that
1 V =1R and P=VI.
! ’ Comment on the following: float, main() and pow().
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Q.1. Encircle the right answer, cutting and overwriting is not allowed. (1x10=10)

L. If marginal cost equals average total cost, average total cost will:
a. Be maximized
b. Decrease
¢. Increase
d. Be minimized

2. A firm will shut down in the short-run if
a. Itis suffering a loss
b. Fixed costs exceed revenues
c. Variable costs exceed revenues
d. Total costs exceed revenues

3. Which of the following is not characteristic of perfect competition?

a) Large number of sellers
b) Differentiated product
¢) Easy entry
d) No advertising
4. For a monopolist to sell more units of output:
a) The price of the output must be increased
b) The price of the output must be decreased
¢) Demand must become more elastic
d) The other competing firms must sell fewer units
5. When the decrease in the price of one good causes the demand for another good to
decrease, the goods are:
a) Normal
b) Inferior
c) Substitutes
d) Complements
6. - Which of the following is NOT a characteristic of monopolistic competition?
a) Large number of firmsg
b) Product differentiation
¢) Mutual interdependence
d) No barriers to entry

P.T.O.
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Q.1. Encircle the right answer, cutting and overwriting is not allowed.
L Pakistan started its 5" five-year plan in:
(a)1949 (b) 1955 (c) 1970 (d)1978
II. Agriculture accounts for:
(2) 28% of GDP (b) 20% of GDP (c) 30% of GDP
II1. Contribution of services sector in the economy of Pakistan is:

(a) 30% (b) 40% (c)48% (d)58%

(1x10=10)

(d)15% of GDP

1Vv. Percentage of employment of labor force in agriculture sector is :
(2)50% (b) 55% (c) 43% (d)27%
V. Pakistan is considered as :
(a) Backward country  (b) Developing (c) Developed (d)aand b
VL The latest population census in Pakistan was held in: '
(a)2013 (b)2014 (c) 2017 (d)2018
VII. Most of the exports of Pakistan consist of:
(a)Industrial Products (b) Sports Goods (¢) Cotton Products
(d)aand b
VIII. The largest item of our imports is:
(a)Petroleum (b) Computers (c) Cotton Cloth (dyaand b
IX. The cost of the China-Pakistan Economic Corridor in 2017 was $:
(a) 50 billion (b) 55 billion (c) 58 billion (d) 62 billion
X. The shortcomings which obstruct free system of prices are called:
(a)Market imperfections (b) Market perfections

(c) Business rivalries (d)aandc
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Q.#2: Write a short answer to the following. (5x4=20)
* I Poverty of QOpportunity Index (POPI) '
1. Debt Overhang Theory
[I. Quality of Life Index
V. Debt Buyback

V. Externalities
Q.#3: How Rostow explains various stages of Economic Growth.
(10)
Q.#4: How trade is different from aid to boost the economic health of a country.
(10)
Q.#5: According to balance growth theory how a country can become a developed
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Q.1. Encircle the right answer, cutting and overwriting is not allowed. (1x10=10)
I Pakistan started its 5 five-year plan in: )
(a)1949 : (b) 1955 (c) 1970 (d)1978
II. Agriculture accounts for: » :
(a) 28% of GDP (b) 20% of GDP (c) 30% of GDP (d)15% of GDP
IHI. Contribution of services sector in the economy of Pakistan is: |
(a) 30% (b)40% (c) 48% (d)58%
IV. Percentage of employment of labor force in agriculture sector is :
(2)50% (b) 55% (c) 43% (d)27%
Y. . Pakistan is considered as :
(a) Backward country  (b) Developing (c) Developed (dyaand b
VL The latest population census in Pakistan was held in:
(a)2013 . (b)2014 (c) 2017 - (d)2018
VIL Most of the exports of Pakistan consist of:
(a)Industrial Products (b) Sports Goods (c¢) Cotton Products
(dyaand b
VIIIL The largest item of our imports is:
(a)Petroleum (b) Computers (c) Cotton Cloth (d)aand b
X The cost of the China-Pakistan Economic Corridor in 2017 was $:
- (a) 50 billion (b) 55 billion (c) 58 billion (d) 62 billion
b, S The shortcomings which obstruct free system of prices are called:
(a)Market imperfections (b) Market perfections

(c) Business rivalries

(d)aand ¢
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‘ Q;#2 7Write a éh’(')'rt answer to the foildwing. T

(5x4=20)
[ Poverty of Opportunity Index (POPI)
[I. - Debt Overhang Theory N
[l Quality of Life Index
[V.  Debt Buyback
V. Externalities
How Rostow explains various stages of Economic Growth.

(10)

How trade is different from aid to boost the economic health of a country.
10)

Accordihg to balance growth theory how a country can become a developed
country? (10)
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i

ii.

iii.

iv.

vi.

Vii.

viii.

iX.

To determine the correct level of GNP, it is necessary to:
a) Add up all savings

b) To count all imports

c) To add up the value of semi finished goods

d) To add up the values of goods and services during one year
If government increases taxes, private savings.

a) Decreases b) Do not change

c) Increases d) Aand C

The fiscal policy is concerned with:

a) Commercial Banks b) Central Bank

c) Government d) All of the above

The theory of comparative cost was presented by:

a) Marsha | b) Ricardo

c) Keynes d) Hicks

Says law in money market is:

a) Not applicable b) Applicable

c) None of the both d) Aand B

The consumption expenditures which are not influenced by income are:
a) Autonomous consumption  b) Induced consumption
c) Durable consumption d) None of the above
The steps taken by central bank to central money supply are:

a) Commercial policy b) Monetary policy

c) Fiscal policy d) Aand C

During deflation Central Bank will:

a) Purchase securities b) Sell securities

c) Waste securities d) None of the above

If government wants to reduce the use of petrol, it will:

a) Tax on petrol be decreased  b) Tax on petrol be increased

c) Subsidies on petrol be given d) Band C

If government wants to remove deficit on BOP, it should follow:
a) Neutral Fiscal Policy b) Easy Fiscal Policy
c) Strict Fiscal Policy d) None of the above

A
A

(1x10=10)
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i) The two main entitieé iﬁn’the?circular flow of income model are:
a. People and foreigners b. Households and Businesses
c. Businesses and foreigners ' d. Households and Government
i) Problems in measuring National Income may included
a. measuring exports - b. measuring imports
c. double counting d. Tax evasion
iii) IMF is .
a. alocal government organization b. aninternational organization
. organization of the USA d. organization of Switzerland
iv) Rules of international trade may be negotiated in
a. the world bank b, WTO
c. IMF d. UNO
V) Fundamental Psychological Law of Keynes is related to
a. Consumption - b. Investment
c. Inflation d. Supply
vi)  Deflationis
a. Increase in the overall level of economic activity. b. Anincrease in the overall price level.
c. Decrease in the overall level of economic activity. d. A decrease in the overall price level.
“vii) Trade may not take place between countries A and B if
a. country A-has absolute advantage in both b. prices of products are the same in both
products s countries
c. taxesare imposed | d. IMF does not provide loan
viii) Production within the country is measure by
a. GNP b. GNI
c. GDP : d. All of the previous options
i) Pakistan borrows form
a. The World Bank b. IMF
c. both'a'and'b’ d. noneof 'a and b’
X) If tax rate increases with levels of income, this is called
a. Regressive tax b. "Direct tax

¢. Indirect taxes d. Progressive tax
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Q2. qi‘féh_,oft answers of following: | (10x2=20)

i, Whatis meant by Pe‘r;c;n*ailﬁ Income? ST o .
ii.  Whatis value added with reference to National Income Accounting?
iii.  Whatis meant by Average Propensity to Consume?

iv.  How can the problem of a deflationary gap be solved?

v.  Accordingto Keynes, what are the determinants of investment?

vi. Which one of direct or indirect tax is better? Why?

vii.  State the theory of comparative a‘dvantages of international trade.
viii. ~ Can a country have Absolute advantage in both commodities under consideration? Why or
Why not?

ix.  Whatis the main objective of WTQO?

x.  What does the Keynesian Theory of Income and Employment teach us?

Q.3. Give detailed answers: Bx10=30)

1) Discuss the concept and measurement of National Income.

1) Consumption is a direct function of income according to Keynes. -
Comment.

*

~ii) .~ Explain the Heckscher-Ohlin theory of International Trade.
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Q.I.  Select the best answer from given option. (1x10-=10)

1- The targets set in the five year plans differ to a great extent from the targets set in the:

A) Development plans
B) National policies
C) Educational plans
D) Research plans

2- In which year, six - year development program of Pakistan started?

A) 1947
B) 1954
C) 1950
D) 1956

3- The first five year plan started in:

A) 1955
B) 1954
C) 1953
D) 1956

4- Educational conference 1951 was prepared by the ——— of the Central government in
collaboration with provincial and state governments

A) Education Division

B) Planning board

C) Educational Council

D) Implementation Bureau

5- The second five-year (1960-65) plan was developed by that
A) Planning commission
B) Planning board
C) Planning Bureau
D) Planning Authority

6- Who will ap;pointed in girls school if qualified female teachers are not available? in due
course, all primary school will have only female teachers

A) Retired personnel

B) Subject specialist

C) Headmasters

D) senior most teachers | PT.0,
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TEMPT THIS (CTIVE! ON THE SEPARATE AN SWER SHEET PEOVIDED

Q. II Short Answer questions (Attempt All Questions) = (5%4 =20)

1. Write down the Salient features of education policy 19782

Sk AL s 1978

_l\)

What are the policy provisions for Secondary education of education policy 1998?

OC‘—LJ/VJ/V/;_}»L—/;Z,ui:/ﬁ‘fdlﬁu:ﬁ’&dfﬂd/l998
3. What are the targets of second five year plan 1960-65?

SV L L65-1960 e

4. What are the major issues of education at primary level write only two issues?

_Ui‘”ﬁ,i/,»c,é/‘.‘ugfugféﬁ“’/j/d/’u,
5. What are the issues of curriculum development write only two issues?
~(J- Jg../})/ )Qu UPYLJJ\/‘K—'LUJL’VLJJ
Section ITI
Q. III Attempt All Questions (10x3 = 30)

1. Write down the main features of Aligrah movement?

LML LGS

Write down the Islamic concept of Education?

E\)

?9'&’(!':&:/565”’

3. What are the salient features of Hamood-ur-Rehman Commission 19642

?uggf:,tﬁ'ﬂéwmu‘”f/uf/u;?
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Q.1. Select the best answer from given option. (1x10=10)
I Cognitive development deals with
a) Society b) Body
¢) Mind d) Emotion
2. The word Psychology is derived from:-
a) Greek b) Latin
¢) English ' d) Italian
3. Learning means:-
a) Change in environment b) Change in culture
¢) Change in behavior d) Change in society
4. Moral development involves.
a) What is right and wrong b) Behaving of accordan
¢) Feelings of guilt & pride d) Specialization
5. Punishment is an example of which of the following:-
a) Learning b) Motivation
¢) Intelligence d) Personality

0-The learner & learning theories are studied in:-

a) Philosophy b) Sociology
¢) Ontology d) Psychology
7-Motivation associated with activated that are their own rewards is .
a) Intrinsic motivation b)  Extrinsic motivatior
¢) Botha &b d) Noneofa&b
8-Learning by insight theory in also called as:-
a) Classical conditioning b) Operant conditioning
c) Botha&b d) Noofa&b
9- Hierarchy of needs was presented by:-
a) Gardener b) Maslow
c) Piaget d) Skinner

10- Growth is cellular whereas development is:-

a) Institutional b) unicellular

¢) Organizational d) Psychological
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ATTEMPT THIS (SUBJECTIVE) ON THE SEPARATE ANSWER SHEET PROVIDED

Q2. Write short answers of the following. Each carries 4 marks. (4x5=20)
1) Write down 2 definitions of Educational psychology with reference.
2) Write down the 4 principles of Growth and development.
3) Whatis learning? Briefly explain.
4) What is difference between intrinsic& extrinsic motivation?

~ 5) Write down 4 classroom management techniques. .
Q3. Write detailed answers of following questions. Each carries 15 marks. (15x2=30)
1) Discuss in detail the scope of Educational psychology in detail. Also give its educational
implications.
2) Explain different instructional strategies which may be used to enhance learning and

teaching.
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- Attempt this Paper on this Q_gstlon Sheet only.
Please encircle the correct option. Division of marks is given in front of each question. \\

This Paper will be collected back after expiry of time limit mentioned above. N
Q.1. Select the best answer from given option. (1x10=10)
i “But remember how you went eighty-seven days without fish and then we caught

big ones every day for ............. eeenenn weeks.”

a) Two b) Three ¢) Four d) Five

i Whose heart will beat for hours after he has been cut up and butchered?
a) Santiago b) Marlin c) Shark ' d) Turtle
a) “If the others heard me talking out loudthey would think that [am ............ .
‘ a) Hungry b) Thirsty ¢) Crazy d) Troubled

iii. “Fish,” he said softly, aloud, “I’ll ................ with you until I am dead.”

a) Die b) Dance ¢) Swim d) Stay

iv. He cursed his left hand because it was.............

a) Injured b) Cramped c) Bleeding d) Lazy

V. “Bad news for you, fish,” he said and shifted the line over the sacks that covered
his shoulders. What was the bad news?

a) The fish had exhausted. b) The boy had come to help the old man.

¢) His left hand was uncramped. d) The sharks had come to attack.

Vi, Santiago remembered the time in the tavern at Casablanca when he had played the
hand game with the great negro from Cienfuegos?

a) To frighten the Marlin b) To give himself confidence

¢) To flatter himself d) To kill time.

vii.  In the return match Santiago won quite easily since he had broken the .............
of the negro from Cienfuegos in the first match.

a) Hand b) Heart c) Leg d) Confidence

viii. ~ Hemingway says everything about Santiago is old except what?

a) His hands b) His face c) His neck d) His eyes

ix. Where does the story take place? b m

a) Cuba b) Puerto Rico c¢) Canary Islands d) Marshall Islands

X. “But I will show him what a man can do and whataman .............. ”

a) Fights b) Eats ¢) Does d) Endures
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ATTEMPT THIS (SUBJECTIVE) ON THE SEPARATE ANSWER SHEET PROVIDED

Q.2. Answer FIVE of the following short questions:

© (5x4=20 Marks)

i What is the logic of the old man going so far out in the sea?

ii. How does Santiago succeed in killing the marlin?
fii. Is Santiago a loser or winner in your opinion?
iv. Describe the depth of the relationship of Santiago and Manolin.

V. Discuss sea as a character in the novel “The Old Man and The Sea.’

e

~ - - B Do
-

Q.3.  Write a letter to the editor of newspaper about the sale of sub-standard helmets in the

market. _ OR ‘ _
Write a letter to the editor of newspaper about the undue increase in the tuition-fee
: and other funds in private schools. (15 Marks)

Q.4.  Write an application with resume to the District Education Officer for the post of
Elementary Teacher. OR o
Write an application with resume to the Deputy Commissioner for the post of Data
Entry Operator. - (15 Marks)
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Q.1. Encircle the right answer, cutting and overwriting is not allowed. (1x10=10)

I. What is the measure for a one dimensional ligure?
a. Area
b. Length
¢. Surface Area
d. Volume

2. Which of these is not an 'equation'?
a. 3x=17
b. 4x2-6=28
C. 4x+5y+ 627
d. 5x=oy
3. a®+b’=25.1fa=3 then what is the value of b?
a. 4
b. 5
c. 6
d. 7

4. What is a 'variable"

a.  Adivision sign
A letter or symbol representing a varying quantity
A multiplication sign

E e o

An cquals sign

5. Use the figure below to answer the question.

<

Lines a and b are parallel. Line ¢ is a transversal. Which statement is true?
a. mZIK mZ4, because they are opposite angles
b. mZ1=m.6, because they are supplementary angles
¢. mLIK mZ8, because they are adjacent angles

P.T.O.
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ATTEMPT THIS (SUBJECTIVE) ON THE SEPARATE ANSWER SHEET PROVIDED

Q.2. Short answers questions. (5x4=20)

Jamal started a business in which he earned Re 1 on the first day Rs 4 on the second day, Rs 7 on the
third day, Rs 10 on the fourth day, and so on. What is his earning in day 1001?

2. Aright triangle has a hypotenuse of length 2x, a leg of length x, and a leg of length y. Write an
expression that shows the value of v in terms of x.

3. IfABCD is a square. find the value of x.

E -
4 L
4. Expandand simplity the following
! .1
E(4.\ +4)+ :((wx%— 12)

5. Find the unknown value in the proportion: 2 : x =3 : 9.

Q.3. Brief answers questions. (3x10=30)

1. Bilal works 8 hours per day. 5 days per week and his weekly pay is Rs. 1200. His employer
increases his weekly wage by Rs. 400. Bilal does not need more money per week than his current
weekly wage. He decides to decrease the number of hours he works every week. How many hours
per week can he work now and keep the same income?

2. Atstock exchange the share price a company is valued at Rs. 40 per share. The value increase by
25% and then decreases by 20%. What is the final value of share of that company?

3. In the following figure AB and CD are parallel lines and EH is a transversal. The size of angle AFG

15 40° and the size of angle FGD is x°. What is the value of x?

tH
(o4

x40/
F

P Ry
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Q.1. Fill in the blanks, cutting and overwriting is not allowed. (1x10=10)
£ .ml’w‘l{ h{ul;»/ ..blf..g/,.l_:dl& 34 Jir
I What is the new name of Jabul-ul-Tariq :
¢ - grtuﬁf‘ﬂjxlbﬂdg A
ii. Who rebuilt the Masjid-e-Nabwi & in Umayyad Period
e Jy/’h.‘f Jffﬁ-drfuﬁdﬂw i
il Who stopped the “Tabirah™ on Hazrat Ali (R.A)
SR # WP 0 Jyd’d 7 i/ ul‘../’ i

iv. Who get back the income of Fidaq Garden from Umayyad’s
?_-___..__-..--du’ug_»b‘/( A J»cLa.,Ar iv

V. In which Hijri the event of Shob occurred
¢ T BLCATS e v
vi. What was the name of person from Umayyad who establish kingshipinUndlas ___ ?
........... J(G'._J;’dflu';f’ﬁid_u)lﬁfbuﬂh’,»lr vi
vii. ~ Who was the writer of Mugadama-i-Abn-e-Khuldoon
¢ Fus. JWKU,;B@:,,«P vii
vili.  What was the official language of Umayyad ?
0 SIS A S o7 i
ix. Who killed the Shemer ?
P _l.J/ IJ(%Z d..uj I /ﬁ JAx
X The Abbasid movement started in Hijri.

S R fFS x
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L s WIS el 2 L el J B g g™

Q.2. Write short answers, not more than four or five lines. (10x2=20)
Py ’ 4 [1 ¢
(2x10=20) ~Unmlie s )’ék&Jku‘b&lﬁ.é{ ¥4 ST I Y Y Iy
i What are the special features of the Umayyad Period? 3

"‘u:;'g..:-_l._.ar" Ly JM!GJJJU’}M‘ i
i, Hazrat Muawiya (R.A.) as a best king of Arab.
EUFPGHL e
iii.  Character of Hajjaj bin Yousaf.
Syl i

iv. Walid I
Jiis v
V. Musa bin Nasir
Luly v

Vi. Marwan II : He was responsible for the fall of Umayyada’s Dynasty.
Bl 36 I z»fﬁ-r’»c}h L7 vi
vii.  Revenue system of Umayyad Dynasty.
T8l Az i
viii.  Suliman’s Character
I SEeb 36 viii
Event of Miraj-e-Rahit.
SLLE,  ix
Central Asia’s policy of umayyad.
o’-‘-" '{;QILAJ gal’i! X

3.3.  Write brief answer the following: (3x10=30)
..1-";-'-’4; el zge : 34 Iy
Give an account of the reforms of the Hazrat Ummer bin Abdul Aziz (R.A.)
bl At fe
i1 Account for the decline and downfall of the Umayyads.

el L F sl s
LI s i

ii. Write in detail the administration of Umayyad.
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Q.1. Select the best answer from given option. (5x2=10)

1. Example of Material culture
a. Pen
b. Building
c. Book
d. All of the above

2. _is the smallest part of the culture
Ethos

Complexes

Trait

Patterns

o 0 o

3. is the process of learning the culture of a society.
Role

Status

Socialization

Mobility

Q0 oo

4. Casteis an status
a. Achieved

b. Ascribed

c. High

d

. Low

5. Culture is always
a. Permanent
b. Constant

. c. Static

d. None of the above P.T.O. For Urdu Version
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Q 1 (a) Mark the following statements as True or False. (5)
i) The first impression of an interviewer is based on what the interviewee is wearing, so the
interviewee should dress-up professionally even if the work environment is casual.
(ii) Present irrelevant and detailed information about yourself and your family inyour CV.
(iii) It is important to do full rehearsal before finalizing your presentation.
(iv) Using too many gestures in a presentation can be distracting. _
{v) A formal letter is a letter to a friend asking about her well-being.
Q 1 (b) Define the following: (5)
(i) Resume’
(ii) Posture (with reference to presentation)

(iii) Short Report

(iv) Cover Letter

(v) Speaking effectively
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ATTEMPT THIS (SUBJECTIVE) ON THE SEPARATE ANSWER SHEET PROVIDED

QZ Write short answers to the following questions: (20)
(i) How will you engage your audience in an Oral Presentation?
(ii) What should an interviewee avoid while appearing for an interview?
(iii) What strategies one can use to make presentation more interesting?
(iv) How will you justify that you deserve a scholarship to an interviewer?
Q 3 Write a short rep(;r“t;{aihy one of the foII(;WEg‘t?)Vpic s o (10)
(i) Electricity crisis in Pakistan
(ii) The consequences of rapid population growth in Pakistan.
Q 4 Write a letter to the Editor of a Newspaper discussing the contemporary issues of
‘Pakistan. (10)
QEPreparé a CV for the following: (10)

SALES MIANAGER REQUIRED

Candidate who has done BS with at least 5-8 years of experience
preferably in food industry. The candidate should possess:

e Excellent sales and negotiation skills.
e« Good business sense.
. The ability to motivate and lead a team.
¢ Initiative and enthusiasm.
e Excellent communication.
s Good planning and organizational skills.

e The ability to work calmly under pressure.
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Q.1. Encircle the right answer, cutting and overwriting is not allowed. (10x1=10)
i Thomas Hardy was:
(a)  An Optimist (b) A Pessimist
(c¢) A Satirist (d) A Humorist
ii. Earnest Hemingway is a:
(a) Novelist (b) Essayist
(c)  Short Story Writer (d) BothAandC
"ili.  Jonathan Swift is from:
(@ 17" Century (b) 16" Century
(¢) 19" Century (d)  18™ Century
iv.  “The Rose and the nightingale” presents:
(a)  Sacrifice (b) Love
(¢) Both Love and Sacrifice (d) None of all
V. Bacon was a:
(a) Poet (b) Novelist
(c)  Essayist (d)  Short Story Writer
vi.  Ofyouth and age is a essay by:
(a)  Francis Bacon (b) Jonathan Swift
(¢)  Oscar Wilde (d) Levis
vii.  Araby was written by:
(a) D.H.Lawarance (b)  James Joyce
(¢)  Oscar Wilde (d) Kake Chopin
viii. The most famous writing of Jonathan Swift was:
(a) Ode to Gracian Urn (b)  Gullivers Travels
(¢) Hard Times (d) A Tale of two cities
ix.  Nadine Gordimer was born in;
(a) South Africa (b) Paris
(c) England (d) Norway
X Rudyard Kipling is the writer of the sotry:
(a)  Araby (b) TheFox
(c)  The String (d  The man who would be a king
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Q1. Enclrcle the rlght answer, cuttmg and overwntmg is not allowed (1x10=10)

1) Consonants uttered through a narrow phu causing fru,tmn is
a) A‘anates b) fricatives ¢) nasal d) plosives
2) bat and mat are examples of
a) allophones b) morphology ¢) phoneme d) minimal pairs
3) two important parts of syllable are
a) stress and intonation b) coda and onset ¢) pitch and tone d)v phone and phoneme
4) Vowels usually are ‘
A) Frictionless b) voiced ¢) uttered with friction d) uttered with obstruction
5) Diphthongs and triphthongs belohgs to
a) Stress b) intonation ¢) vowels d) consonents
6) Biliabial sounds are produced by
a) Opening up two lips
b) By joining two lips
¢) ' Through lips and nose
d) Through nose only
7) Nasalized sounds are produced

. a) Fhloug,h nose and mouth wE LT et R e

by T hrough mouth
¢) Through nose only
d) Through tongue and teeth
8) The phonatary system is made up of
a) Lungs
b) Larynx
¢) Wind pipe
d) Mouth
‘ 9) The physical aspect of sound is called ,
a) Phonetics b) phonology c) auditioary phonetics d) physncal sound system
10) There is one sound which is semi vowel that is

a) /D/b)/V/ ¢) IY1d) IW/

N Slgnature of Supdt.:
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ATTEMPT THIS (SUBJECTIVE) ON THE SEPARATE ANSWER SHEET PROVIDED

Q.2.

Give short answers of following:

4) What is stress and intonation (3)

Q.3.

1) What are the pulmonic sounds (5_)7_7

2) What is phone and phoneme (5)

3) Wrtie down the places of articulation (5)

Give detailed answers:

1) Write a note on manners of articulation 10

2) What do you know about phonology? 10

3) What is phonetics and what it its importance? 10

(4x5=20)

(3 x10=30)
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Q.1:- (a) Choose the word most simil‘(;r in. lqnve:;lilin;g io the capitalized ones. 5

(i) DIGRESS;

(a) regress (b) devitae (c) excess (d) unpredictable
(ii)  TRANSLUCENT:

(a) milky (b) opaque (c) clear _ (d) glowing
(iii)) FALLACIOUS: o

(a) inhumane (b) false (¢) truthful (d) vicious
(iv) BOUNTY;

(a) adorn (b) beautify (c) sugary (d) reward

(v) OBDURATE:

(a) stubborn (b) flexible (c) truthful (d) delicate

(b) Fill in the blanks with appropriate prepositions given at the end of every sentence. (5)

(i) The atmosphere in this office is not congenial __me.

(a) for (b) to (c) with (d) upon

(i) lam sending you the money you have asked _

(a) in (b) for (c) out (d) up
(iii)  The milk quickly turned SR butter.

(a) in (b) over (c) to (d) into
(iv) They will be back ____November.

(a) till (b) until (c) by (d) while
(v)  He was by no means ignorant ___this.

(a) with (b) of (c) to (d) about
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ATTEMPT THIS gSUBJECTIVE! ON THE SEPARATE ANSWER SHEET PROVIDED

QUESTIONS WITH SHORT ANSWERS

Q.2. Read the following passage carefully and answer the questions given at the end. (20)

To be a good teacher, you need some of the gifts of a good actor. You must be able to hold the attention
~and interest of your audience; you must be a clear speaker with a good pleasing voice and you must be

“able to act when you are teaching in order to make its meanings clear. Watch a good teacher, you will

see he does not sit imotionless belore his class; he stands the whole time he is teaching; and he walks

“about using his arms, hands and finger's to help him in his explanation and his face to express his

feelings. Listen to him and you will hear the loudness, the quality and the musical note of his voice
always changing according to what he is teaching. But the fact that a good teacher has some of the
gifts of a-good actor does not mean that he will indeed be able to act on the-stage, for there are very
important differences between the teachers’ work and actors’ work. The actor has to speak words
which he has learnt by heart, he has to repeat certain dialogues which he has learnt earliest. Even his
movements and the ways in which he uses his voice are usually fixed- before. The good teacher works
in a different way because his audiences take an active part in his play. They ask questions, and if they
do not understand something, they will say so. So the teacher has to suit his act to the need of his
audience that is his class. | know many teachers who were fine actors in the class but were unable to
take part in a stage play because their brains would not keep strictly to what another had written.

Questions:

I- Suggest a suitable title for the passage. (2]

2- What is the difference between a good teacher and a good actor? (4]

3- What is the role of teacher in nation building? (3]

4- How can a good teacher be compared to a good actor? [3]

5- Who, according to you, is a good teacher? [3]

6- Make a precis of the above passage. 5]
QUETSIONS WITH BRIEF ANSWERS
Q.3.  Write three connected paragraphs on women empowment. (10)

Q.4  Write a letter to the Distirct Health Officer about the lack of medical facilities in Government

WHbspital/Dispensaries of your district. (10)

Q. 57 Write down steps for preparing an effective Oral presentation and strategies for effective
nonverbal delivery, (6+4)
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Q.1. Encircle the right answer, cutting and overwriting is not allpwed. (1x10=10)" |
“ieovery | . .
a) lavish b) beggary c) abundance d) wealth
2) appendix
a) appendage  b)principal c) contents d) tables
3) compensate
a) deprive ' b) damage ’ d) to beg d) reimburse
4) Magnificent
a) beautiful in a grand way b) magnify c) clumsy d) bad
5) Malign '
a) to speak good about someone b) to speak bad about someone c)freedom d) plain
6) placid
a) mixed b) peaceful c)caution d)carelessness
7) Immortal
a) everlasting  b) subject to death c) death e)decay
8) innovation
a) something new b) loss c)steal d) resolution
9)pacifier
a) agifator b) mediator c) diplomat d) conquerer

10) interruption

a) hindrance - b)smooth c) commencement d) beginning
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ATTEMPT THIS (SUBJECTIVE) ON THE SEPARATE ANSWER SHEET PROVIDED

Q.2. Give short answers of the following: 4x5=20)

a) What is the difference between intrapersonal and interpersonal communication?(5)
- b) Explain the difference between heading and letter head?(5)
c) Explain briefly the types of communication that take place within an organization?(5)

d) What are the barriers that cause hindrance in listening? (5)

Q.3. Give brief answers. - (3x10=30)

a) Discuss in dgtai‘l the parts of a business letter? (10 marks)
: b) .Define listening and what are the ways to improve it? (10 marks)

‘ ’C.) Explain in detail the strategies to convey good and bad messages? (10 marks)
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Q.1. Encircle the right answer; cutting and overwriting is not allowed. (1x10=10)

Q. 1. (A) Encircle the correct answer.
i. Eliminating wordy expressicns in communication is known as

a. completeness
b. consideration
C. conciseness

d. concreteness

i. Vertical communication takes place between__

a. Superior to subordinate

b. Subordinate to superior

c. Employees with same status

d. None of these

ii. Including ‘heading-letter head’ a business letter has parts.
a.

b.

c. 10

d. 7

iv. Some messages are written on dark or bright colored papers because

a. of informal nature of the message

b. the message is as important as the substance
c. of formal nature of the message

d. none of these

V. __isthe most common form of communication between people or departments within

an organization.

a. Formalletter
b. E-mails

c. Applications
d.

Memorandum

P.T.O.
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ATTEMPT THIS (SUBJECTIVE) ON THE SEPARATE ANSWER SHEET PROVIDED

. Q.2. Write short answers to the following questions. (5x4=20)

i. Explain the organization plan for a successful presentation.

ii. What.is the structure of a memorandum?
iii. Explain the procedure of taking minutes of a meeting?
iv. What do you mean by non-verbal communication?

v. What is the use of audio-visual aids in business communication?

Q.3. Write brief answers to the following questions. (3x10=30)

i. What are the principles of communication? How do you prorve that thé;/ ;verlap with one another?
ii. What are latest/modern channels of communication? Explain them in detail.
iti. Create a resume based on the following information.
Name: : Muhammad Athar
Quaiificationt D BS (IT)

Experience: -5 Years as T Assistant Manager in ABC Company
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Q.1. Encircle the right answer, cutting and overwriting is not allowed. (1x10=10)

1. The average distance between sun and earth is million km.

a) 145 b) 150 ¢) 155 d) 160

2. The ozone layer shields the earth surface from

a) Smoke b) Dust c) Ultra violet rays d) None of these

‘3. Which of the following is considered the largest Planet in Solar System?

a) Earth b) Mars c) Jupiter d) Neptune

4, _is a field of geography that deals with map making.

a) Cartography b) Climatology c¢) Surveying d) None of these
5. tides occur during when Moon is either full or new.

a) Neap tides b) Spring tides ¢) ebb tide d) None of these
6. is.considered the earliest geological era.

a) Proterozoic b) Paleozoic ¢) Mesozoic d) Cenozoic

7. The atmospheric humidity is measured by

a) Anemometer b) Barometer ¢) Hygrometer d) Thermometer

8. Which of the following is considered the smallest ocean in the world?

a) Pacific b) Atlantic ¢) Indian d) Arctic

9. Which of the following is a Trace Gas found in the Atmosphere?
a) Nitrogen b) Carbon Dioxide c) Oxygen d) Argon

10. The fastest thing in the universe is:

a) Sound b) light

c) water

d) None of these
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ATTEMPT THIS (SUBJECTIVE) ON THE SEPARATE ANSWER SHEET PROVIDED

Q2. Give short answers to the following questions: (02 marks each) (2x10=20)
1. What are the main themes of Geography?
2. Enlist types of igneous rocks.
3. What is International Date Line?

4. Differentiate between Solar and Lunar Eclipses.

()]

What is Geological Time Scale?
Differentiate between rotation and revolution of Earth.

Briefly tell the composition of Atmosphere.

What is continental shield?

6
7
8. What is meant by an earthquake?
9.
10. Name the continents of the world.

Q3. Attempt all questions (10 marks each) (3x10=30)

1. Define Geography. Also briefly discuss the main branches of Human Geography.
2. Write a detailed note on the internal structure of the Earth.

3. Write a comprehensive note on the ocean currents of Atlantic Ocean.
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Q 1. Encircle the right answer, cuttmg and overwrltmg is not allowed. (1x10=10)v

1) Domestlc V|o|ence (protectlon and Preventlon) Bill was passed in:

O R W WY SR

a) 2012 b) 2018 C)2005 d) 2016
‘W?_)ﬁ Anti-women prac;ces ( Ammendment in Panal Code) Act was passed i - -
S At K (I I6 S D SN IBL 1P (2
a) 2010 b) 2009 b) 2011 d) 2018 |
3) Pakistan Penal Code 1860 Adicle 498 (B) and 498 (C) provides protection to
OSBRSS 498 (498 =l 18600t Lely 7 (3
a) Inheritance ‘ b) Child Marriage ¢) Freedom from Domestic Violence d) Freedom frd Dowry
= le#(d et (c SEE b Ul (@
4) The punishment for Exchangé Marriage could be: :
&;.J%yjfﬁé&éﬁ,e (4
a) One to two year b) Two to seven year - c)Six Months d) None of them
AT AR Szl el ® . SlneSia

5,) The fine for aviolating Right t olnheritance is: ;
; ?QL.L:CH;LZWJ::JJ/JZ,;;/’UQ’{/’@ (5
a) Ten Lackh Rs. b) 5 Lakhs Rs. c) 1 Lakhs Rs. d) None of them

St d 5L Sk el (@

6) Dissolution of Muslim Marriages Act was passed in: S
P S oise Ll GEui 6
a) 1939 b) 1935 b) 1920 d) 1945 '
' 7)A‘!ddiaf refers to: » - - -
Seslpemn (7

a) Child Marriage b) Form of Dowry ¢) Form of Dower d) None of them

8) CEDAW is an International Document which mainly adress:

PV A (ke8I LI CDDAW (8 |
a) Discrimination b) Domestic Violence c) Child Marriage d) Dowry
T O T 2l e L 0 S (a
9) Maintenance refers to:
:;’/c:..:,-ﬂ} (9{‘
a) Bridal Gifts b) Provision of Subsistances to woman by husband c)polygamy d) Non of them |

e Ut (d UbsnskieSi(c St (b LS @

10) Muslim Family Law Ordinance was passed in: “
St MFLO (10

ayert . mytsel  onest dnest
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ATTEMPT THIS (SUBJECTIVE) ON THE SEPARATE ANSWER SHEET PROVIDED

Q.2. Questions with short answers. - (@x5=200
D R L i
o
1) Explain the laws_child custody in Pakistan.
LUk B 2o $ug (1
2) Highlight the Importance of "Dissolution of Muslim Marriages Act.ﬁ

UGS E E L SSui (@
3) Explain the Inheritance laws for woman in Pakistan.
Yo bnfeat$ I it (3
4) Define child Marriage. Highlight the legal.protection against Child marriage in Pakistan.
A1 e $ESUFA U el e GRS (4

Q.3. Questions with brief answers. (3x10=30)

i.  Define Polygamy. Explain the social and legal situation of polygamy in  (10)
Pakistan.

LSBT ozarr e fomdI Stmiay Lot fte st e bia )

ii.  Write a detailed note on the importance of Muslim Family Law Ordinance in  (10)
Pakistan.

.u:‘.‘d .:JJ-J 4w614,l¢4uf u"‘fzf'u@ ﬁ’ u.‘.uw@ i

iii.  Discuss the issue of dowry in Pakistan and also describe the critical analysis of  (10)
its legal prohibition in Pakistan.

S BCL sz e L ip L2 IBE g B Lo i
s
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Q.1. Encircle the right answer, cutting and overwriting is not allowed. (1x10=10)

1. “Patriarchy as a political institution’ the idea was given by Kate Millet in her book:

a) Feminine Mystique

b) Sexual Politics

¢) Vindication of the rights of womer
d) All of the above

2. “The Vindicaticn ol the Rights of Women” (1792) written by:

a) Virginia Wou'i

h) Betty Fricden

¢) Marry Wollstonecraft
d) Simone De Beauvoir

3. Which country first gave the right to vote to women in 1893:

a) New Zealand
b) Australia
c) Canada
d) None of them

4. Marxist feminism claim that:

a) Ignore race and class in feminism

'b) Don’t ignore race and class in feminism
¢) Ignore patriarchy

d) All of the above

5. Gender division of labour and private sphere of women should be valued:

a) Socialist feminism
b) Liberal Feminism
¢) Radical Feminism
d) Marxist Feminism

P.T.O.
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AE THIS (SUBJECTIVE) ON THE SEPARATE AN SWEB S@ET PROVIDED

Q.2. Short answers questions. (4x5=20)

1. Writes features of Socialist feminism.
2. Explain the feminist movement in Pakistan,

3. Explain the emerging issues highlighted by Postmodern Feminism.

4. Describe Eco- feminism?

Q.3. Detailed answers questions. (3x10=30)

1. Write in detail about the main features of Liberal F eminism.

2. Define Islamic Feminism. Explain how Islamic feminists have advocated gender equality in
the light of Quran and Sunnah.

3. Write note about any two Pakistani feminists from whom you are inspired.
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Q.1. Encircle the right answer, cutting and overwriting is not allowed. (1x10=10)

1. Power

involves socially sanctioned threats of violence and intimidation.
a) With
b) Within
c) To
d) Over
power means one group’s increase in power necessarily involves another’s
loss of power. ’
a) Distributive
b) Zero-sum
¢) Finite
d) Infinite
3. . Development must be by people, not only for them is the concept presented in Human
Development Report that stresses on peoples’
a) Participation
b) Equality
¢) Integration
d) Justice
4. Empowerment involves challenging the forms of  which compel people to play a
part in their society on terms which are inequitable, or in ways which deny their human
rights according to Oxfam.
a) Inequality
b) Oppression
¢) Discrimination
d) Injustice
5. Jo Rowland points out that empowerment is a process.
a) bottom-up
b) top-down
¢) lengthy
d) ground e

o

6. According to feminist perspective, women’s empowerment is the liberation of men from
false value systems and ideologies of oppression and construction of a 7 society
for all.
a) Just
b) Desired
c) Wise
'd) Humane

- PT.O.
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ATTEMPT THIS (SUBJECTIVE) ON THE SEPARATE ANSWER SHEET PROVIDED
Q.2. Give short answers of following: (5x4=20)
1. Power over e
2. Power to
3. Power with
4. Power within
5: VIliladequate processes
Q.3. Give detailed answers: (3 x 10 =30)
} + What are gender-specific constraints creating gender inequalities in the labour market? |

i1 What is entrepreneurship? Discuss entrepreneurship development with reference to
microfinancing in Pakistan.

{11, What is multidimensional poverty? How does it keep women out of the mainstream

- development, Explain? TR ——
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ATTEMPT THIS (SUBJECTIVE) ON THE SEPARATE ANSWER SHEET PROVIDED

Q.2. Give short answers. (5x4=20)

(i) Write a brief note on Semitic (§\) and non-Semitic (§\- &) religions.

(i) Give a short note on equality between men and women in Islam.
(iiiy ~ Write short note on Gender Harassment.

(iv)  Give a precise definition explaining women empowerment.

v) What is the status of women in Bhuddhism?

Q.3. Give Brief Answer 3x10=30)

Q) Write a comprehensive note on Nikkah and Divorce in Islam.
(ity + The status of women in the different societies of the world.
_ (ii)  Describe the role of religion in human society.
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(1x10=10)

Development psychologists believe that two factors that influence human development are:

(@)  Motivation and emotion (b)
()  Genetic make up and experience  (d)

Motor skills are largely a result of:

(8  Leaning ®)
(c)  Practice (d)
The concept of intelligence is closely related to:
(a)  Motivation (®)
(c)  Perception (@)
Smoking during pregnancy is associated with:
(@)  High intelligence in fetus (b)
(c)  High mortality (d)
Androgyny is having:

(@  Male characteristics (b)

Self and others
Rewards and Punishments

Maturational process
Observing others

Learning
Cognition

Low birth Weight
BothC &D

Masculine characteristics

(c)  Both masculine and feminine Characteristics

(d) None of above

Male chromosomes are: '

(@ XX ® XY

© XZ @ ¥YX

Gender as an area of research teaching and action has emerged only after:
(@ 1860 (b) 1910

(© 1947 @ 1975

Androgynous peson show tracts.

(@)  Positive masculine and faminine = (b)  Negative masculine
(¢)  Positive masculine (d)  Positive feminine
Feminist research is:

(@  Interdisplinary (b)  Multi displinary

(¢)  Cross displinary (d)  All of the above

Feminist research aims at:

(a) addressing women’s issues with women’s perspective

(b)  To study women as an object
(c)  Promotion of women research scholars
(d)  Study of women’s education
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Q.1. Encircle the right answer, cutting and overwriting is not allowed. (1x10=10)

1.

A class must have a comstructor.
a) True b) False
Class level variable can be accessed without class object.
a) True b) False
If ptris a pointer than cout << ptr will display the address of ptr.
a) True b) False
We can store a double pointer address in a double pointer.
a) True b) False ‘
An entire structure may not be passed to a function as an argument.
a) True b) False
A class object consist of
a) Private/public members
b) Attributes and functions
c) Eitheraorb
d) one of them
Encapsulation refers to the combining of data and code into a
a) Class
b) Program
c) Object
d) None of them

If class has only parametrize constructer. Then what will be its default constructer?

a) Same parametrize constructer
b) A constructer which takes no parameter
c) No default constructer.
d) None of them.
It is good to make getter function
a) Const '
b) Public
c) public and const
d) None of these

10. We can have multisle

a) Default ccnstructer

b) Parameterized constructer
c) Destructor

d) None of these
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Q.2.

1

Write short answers to the following questions.

I. Write down the output of the following code.

#include<iostream>
using namespace std;
class A{

int 1i_A;
public:

A(int x){ i_ A = x; }
}; ‘

int main(){
A a;
cout<<"Hello"<<endl;
return 9;

}

II. What is difference between a Class and Object?

III. Why Operator overloading is used?
IV. Write the output of the following code
#include<iostream>
using namespace std;

class A{
public:
A

cout <«
}

~AOA

cout <«
}

}s
class B : A{
public:

BO{

cout <«
}

~BO{

cout <«
}

};

int main(){
B b;
return 9;

}

"A" << endl;

"~A" << endl;

"B" << endl;

"~B" << endl;

(5x4=20)

P.T.O.



Q3. Long qgesﬁti_qis:? (7+7+7+9=30) .

~ We are going to create class of Matrix. You have to write the definition of the following -
function given below in the Matrix class.
class Matrix {
private: .
int noOfRows; /Total number of rows
int noOfColumns /#/Total number of columns
int ** data; /Matrix data

public:

Matrix(int noOfRows, int noOfColums); / If noOfRows > 0 and noOfColumns
then assign it and allocate the rows in the heap. Otherwise assign 0 to all.

void displayData(); // Display all records present in data. '
~Matrix(); // Deallocate the memory allocated by Matrix. '

Matrix(const Matrix & ref) // copy construtor

You have to write down the definition of following functions.

1. Matrix(int noOfRows, int noOfColums)

2. void displayData(); / Display all records present in data.
3. ~Matrix(); // Deallocate the memory allocated by Matrix.
4.  Matrix(const Matrix & ref) / copy construtor
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Q.1. Encircle the right answer, cutting and overwriting is not allowed. (1x10=10)

I. Assume AL—CS BL=48 what will be status of sign flag and carry ﬂag after the execution
of instruction SUB AL, BL.?
a. 3ign flag reset ,Carry flag reset
b. Sign flag reset ,Carry flag set
c. Sign flag set ,Carry flag reset
d. Signflag set ,Carry flag set
I1. How many times the loop will executed in the following code?
MOV CH,0
AA: MOV DLA’
MOV AH,02
INT 21H
INC CH
INZ AA
; a. Zero time b. One time c. 255 time d.256 time
1. SP register is associated with __by default:
a. DS b. CS c. ES d. SS

V. Which instruction will invert bit#3,4,and 5 of Register DL keeping the remain bits
unchang :d.
a. NOT DL,26h c. AND DL,13h
b. XOR DL,13h d. None of above
Y. The input character getting from console is placedin _____
a. AX b. AH c. AL d. DL

register.

VI. For display a character on screen which number is placed in ah register.
a. Olh b.02h c.0% . d. None of these
VIIL Assume the following data is loaded at offset 01 AOh:
V1 DB 41h
V2 DW  5678h
V3 DB ‘PU Lahore’
Give the offset address assigned to variable C.
a. 0lA3 b. 01A8 c. 01A2 d. None of above

VIII. Assume SI=0100,DI=0200 Assume Direction Flag is reset. What would be the contents of
ST and DI after execution of instruction of LOADSB twice?
a. SI=0102 DI=0200 c. SI=0100 DI=0202
b. SI=0104 DI=0200 d. SI=0100 DI=0204

X, Assume SP=0048. What would be the value of SP register after execution of PUSH BX
instruction twice?
a. SP=0044 b. SP=0046 c. SP=0050 d. SP=0052
X If the decimal number 20 is shifted left by 2 bits the new value will be ?

a. 10 b. 20 c. 80 d.160
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Q.2. Write short answers to the following questions. (4x5=20)

1. Asqume DL contams the ASCII code. of Lower case letter. Write instructions to convert it to
upper case and print it.(use some logic instruction for conversion)

II.  Assume the following data is loaded starting at offset 0300h:
A DB 41h
B DW  5678h
B1 DD 1234h
C DB ‘HELLO’
Give the offset address assigned to variable C.
III. A memory location has physical address 93FC4h that corresponds to offset address 1FC4h.
Calculate the segment address and the maximum possible physical address in this segment.

IV.  Assume SI=0100, DI=0200;CX=0005. Assume Direction flag is set. What would be the
contents of SI, DI and CX after the execution of instruction CMPSW twice?

Q.3. Long questions. (2x15=30)

1. Wute an Asscmbly Language Px ogram thdt p10mpts the user to enter two strmg, than it w1H
find that the second string is the substring of first or not.
Sample execution:
i)
Enter first strmg Hello World
Enter second string: ello
Yes it is Substring
i)
Enter first string: Hello World
Enter second string: elloabc
Not a substring

II. a) Write down the note on all string instructions and also explain thcm with help of
examples.

b) Write down the name of different registers, also explain the purpose of all register that
are used?’
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1. The purpose of a strategic plan it to identify ways to create or maiptain a (n)

a. Differential advantage
b. Competitive advantage
¢. Instrumental advantage
d. Success factor
2. A aims to measure an array of possible predictors for job performance.
a. Test validity
b. Test criterion
¢. Test battery
d. Job analysis
3. The expertise of human resource departments became indispensable with the
a. Passing of equal employment legislation
b. Increase of women in the workforce
¢. Movement of jobs to countries with cheaper labor costs
d. Bothaandb |

4. Most people who are classified as nontraditional workers are

a, Contingent workers
b. Independent contractors
¢. Job sharing
d. Working multiple jobs
- 5. Participatively set goals result in higher performance than assigned goals when __
a, Participatively set goals are more difficult
b. Assigned goals are more difficult
¢. The rewards are also higher
d. Participatively set goals are used consistently
6. Herzberg’s Hygiene-Motivator theory of motivation suggests that intrinsic factors like
cause satisfaction.
a. Working conditions

_b. Pay

¢, \Lhuvgmbnt e e

< d. In centive pay PTO .
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Q.2. Questlons with short answers. - (5x 4= 20)7
/ \i”-hcﬂ are the three forms of scxual 1 zuassmem? Descrlbe each form.
2. What are the steps involved in conducting a job analysis. Describe each step.
3. Write down guidelines for managing a testing program.
4, What are the advantages and disadvantages of using an employee referral campaign for
recruitment purposes? ".
5. What are the key steps f01 launchmg a successful EAP program“’ :
Q.3. Questmns w1th bnef answers. (3 x10= 30)
I. What is strategic management7 Bneﬂy describe the six steps in the str ateglé ﬁmnagement 7
process. 10
2. What are advantages of on-the-job training? Describe the four steps in job instruction. 10
3. What are the four decisions that affect a firm’s promotion process? Explain the effect

each ducmon could have on promotxonal deuslons 10
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Q.1. Encircle the right answer, cutting and overwriting is not allowed. (1x10=10)

i. refers to the learning opportunities designed to help employees grow.
(@) Training (b)  Development
(¢)  Education (d)  All of the above

ii. Which of the following is a benefit of employee training?
(@ Improves morale
(b)  Helps people identify with organizational goals
, (¢)  Provides a good climate for learning, growth and co — ordination
(d)  None of the above

iii.  According to social learning theory, self-efficacy is defined as a person’s beliefs.
(@)  About their ability to successfully perform a particular task or activity
(b)  About their overall worth or sense of value
(c) That performing a particular task will lead to a given outcomes
(d)  That the cause of their behavior is something external to themselves

iv. Organization culture is:
(a)  Illegal to talk about
(b)  Ofno interest to training and development
(© A setof beliefs and behaviors that are shared by members of the organization
(d) A factor only for management level employees.

V. Maslow’s need theory of motivation:
(@  Contains 2 factors (b)  Contains 5 categories of needs
(c) Focuses on existence, relatedness and growth
(d)  None of these are true

vi. Rearrange the steps in training programme.
(a) What should be the level of training? (b) What principles of learning?
©) Who are the trainees? (d) What methods and techniques?
(¢)  Where to conduct the programme? ® Who are the trainers?

vii.  Human Resource Development is best defined as:
(@) A set of systematic and planned activities designed by an organization to provide its
members with the necessary skills to meet current and future job demands.
(®) A set of systematic and planned activities designed by an organization to provide its
members with the necessary skills to meet past job demands.
(c) A fancy name for being a Personnel Manager
(d)  Just another form of apprenticeship training.

viii. A main distinction between training and development is that developmental activities are
generally:
(@  More focused on specific job skills
(b)  Less expensive than training activities
() Becoming less common as organizations deal with their changing business environment
(d  More focused on long-term or future responsibilities.

Ix. A challenge currently facing the HRD field is:

(a) Increasing workforce diversity (b) Competing in a global economy

(c)  Eliminating the skills gap (d)  All of these are challenges HRD faces
X. Which of these is an off — the — job training method?

(a) Television (b) Job Rotation

(c) Orientation Training (d) Coaching
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i. Second session of OIC held in Pakistan in:
(a) 1969 (b) 1989 © 1974
NP Juu@u’ugu 25653l i
1974 (@) 1989 (&) 1969 ()
ii. Floja is city of:
@) Iraq (b) Afghanistan (c) Egypt
te KLU P i
»~ @ bl (&) BN )
iii. The author of “Brief History of Muslim Ummah” is:
(a) Ghulam Jilani Baraq (b) Sarwat Saulat (c) Mabhatir Mohammad
e (s LGk St
iy @) eresd (L) Saduzpe (L)
iv. Write down the capital of Qatar:
(a) Doha (b) Oman (©) Mashhad
?q.((?(&’:gbbéﬁ v
5 @) o (&) PN @)
V. Which is the largest country of Muslim world?
(a) Uzbekistan (b) Kazakhstan (c) Kyrgyzstan
?cl:.l/cjl(uﬁ()'d/”?,c_b./c}:‘l;f_;/ v
ot S (@) ol (&) e ()
vi. Which country’s old name is Mesopotamia?
(a) Morocco (b) Iran (c) Iraq _
e bbbl Lyt i
Js @) oy () )
Vii. Where Caspian Sea is located?
(a) Middle East b) Central Asia () North Africa
e Cht B o d i
B @) Gigs (&) SR )
viii. ~ Which country is famous for natural rubber production? '
(@) Malaysia (b) Brunei Darussalam (c) Mali
S ul g MUSL LS i
d @ el () B ()
ix. Indonesia is located:
(@ Middle East (b) Central Asia (c) Far East
?‘Ldb(j:égf’i@)fﬂ X
254 @ Gibs (L) R E)
X, “MOSAAD” belong to:
(a) Israeal (b) India (©) China

e SELSMOSAAD”  x
g @) el (L) K ()
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Q.2. Write short answers to the following questions. (5x4=20)

-q’:cayﬁ/‘? L@Ulrd’.}&u 2 / dir‘

i. Highlight two economic issues faced by Muslim Ummah.
-q/uy.f/“f'ﬂfu&w;c_éfié»f,oi(" A
ii. Describe the objects of Motamar Al-Alam Al-Islami.
LS LS f i
iii.  Describe the current situation of Yemen.
_Jljlﬁ(}ﬁ u/,dlog«/ﬂuﬁr‘d/ IS Jii
iv. Highlight two impacts of sectarianism on Muslim Ummah.
-Zi.o’/'(g Kl linleots 3 /"4U:"W Av
v. Through light on agricultural sources of Muslim Ummah.
SISl ewde N

Q.3. Detailed answers are required to the following questions. (3x10=30)
-w_,,'b..-.-,gmd"“- Celrditns 34y
i. Give comprehensive suggestions for the unity of Muslim Ummah.

b L LA L e i
ii. Explain “Afghanistan Discord” briefly and describe the role of Pakistan.
G g S LY oAb e i
iii.  Describe the Mineral sources of Muslim world and suggest the solution of its problems.

B L LS LI Gind 201 Stk fedmlowide i
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Gl AU
a) ____ consider as the founder of Motazilah sect. '
b) Yazid bin Muaviya reign remained for ear.
9 y

c) Basra city was established by
d) Battle of Jamal was fought in

e) ,_ - was the last ruler of Ummyads Dynasty.
f) Hazrat Umar (R.A) period of Caliphate remained years.
g) Hazrat Umar Bin Abdul Aziz was Governor of before caliph.
h) Hazrat Usman (R.A.) was martyared in year.
1) The period of Hazrat Abu Bakar reimained for year.
J) Tragedy of Karbala occoured in Hijri. )
T I A YO NPT ) ] e— .
SeAx J'? Jz - -“lwr)l,ﬁ---"-",“""‘--:%iu/{ -
i =3y K fe 2 S i U RPEITE LS -
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Q.1. Encircle the right answer, cutting and overwriting is not allowed. (1x10=10)

e

(i)

(iii)
(iv)
(v)

(vi)
(vii)

(viii)

(ix)

(x)

Thé vélue of (—21)3 :7 _

(a) 8i (b) -8i (c) 8 (d) None of these
1 -2 3
The value of determinant (-2 3 1|= is-—--
4 -3 2
(a) -25 b)-20 c)7 (d) None of these
A matrix A is called skew hermitian if -----
(a) (4) -4=0 (b) (4) =24 () (4) +4=0 . (d)None of these
If @ is a cube roots of unity then the value of (1 -0+’ )3 is -----
(a) 8 (b) -8 (c)O (d) None of these
if a, , =3n—11, then 5th term of the sequence is -----
(a)8 (b) 9 (c) 10 (d) None of these
Iif a=3, r=2,thenthe nth term of the G.P. is -----
{a) 2.3 (b) 3.2" (c) 3.2+ (d) None of these
The number of terms in the expansion of (2a +b)'" is ----
(a) 10 (b) 11 (c)12 (d) None of these

The (r +1) th term in the expansion of (a+ x)" i s

(n n-r _r n Bl P n G i
-+ (a) k], e {b) a x (c) a 'x (d) None of these

r+1 r+1

8
If tand = T and therminal arm of the angle is in llird quadrant then value of sec8 = -----

-17 17 17

s b) — c) +— d) None of these
(a) e (b) T (c) T (d
The value of ~/2 sin 45 +Lcos 45 = -

V2

3 3 3
(a) — {b) — (c) £ (d) None of these

2 2 2
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Q.Z Solve the followmg Short Questlons (2 X 10 20) ‘
(i) Simplify and express (5,—4)7(—3,—8) in the form a+ bi .
. x+3 1 y 1.
(ii) Find the value of x,y if = ‘
-3 3y-4 -3 2x
(iii) Evaluate [ I+ \[—\ { N w
J 2 )Tz )
(iv) Show that the roots of equation x” + (mx + ¢)? = a* will be equal if ¢ = 4? (1 +m2).
(v) Find the sum of arithmetic series —3 + (41) +14+3+54...44, . -
Lo g | 3 1Y)
(vi) Find the term involving x° in the expansionof | = x—— | .
‘ 2 3x)
111
(vii) Find the 10th term of the H.P. —, — — ...
378713
(viii)  Find r when @ :g radians, / =1 cm
(ix) Find the values of trigonometric functions of the angle 1530°
(x) - Expand (1 - 2x)h') up to the first four terms and use it to evaluate (0 8)”3
SECTION 1l
(5 marks each long question) (6 x5=30)
b+c a a’
Q.3 Showthatic+a b b* =(a+b+c)a-b)b-c)c—a).
|a +b ¢ czﬁ
Q.4 Solve the equation x* —3x* +4x> -3x+1=0.
Q.5  Ifthe roots of px’ +gx+q=0we &, /3 then prove that \/:+ 1) \/7
Q.6 Find the term independentof x in the expansion of (2 +—2j :
X
l1+cosé
Q7 Prove the identity 1 : :(cosec9+cot9)2.
—CoS
tand +secd —1
Q.8 Prove that =tanéd +secd .

tanf-secHd+1 e
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Q.1. Encircle the right answer, cutting and overwriting is not allowed. (1x10=10)
It (Z)/ =—A then A is called
® (a) Symmetric matrix (b) Skew symmetric matrix (c) Hermitian matrix (d) Skew
Hermitian matrix
If W is a linear subspace of V then
(i) | () dim(W) < dim(V) (b) dim(W)>dim(y) (¢)dim(#)=dim(¥) ~ (d) None of
. these ‘
A set of linear equations is represented by the matrix equation Ax = b. The necessary condition
(iii) for the existence of a solution for this system is '
(a) A must be invertible (b) b must be linearly depended on the columns of A (c) b must be
linearly independent on the columns of A (d) none of these
A unit vector orthogonal to both (1, 1, 2) and (0,1,3) in R? is -----m----
(iv) (1—31\[ (-13 1),(2 -3 —1) o] ‘= 1°
a i =i N e b “Eoa Lo C) T T s o (d) Y R et A e
N R WA TR YO B WA R TR T B WA R Ty NIRRT
. . (2 0},
. The characteristic polynomial of the matrix 1S i,
v
(@) dim(W)=dim(¥) (b) p(A)=2-A)3-1) (c¢) p(A)=0 (d) None of these
The property Va,beR then a+b=b+a=>b¢e R thenais called
(vi) (a) Identity (b) Inverse (¢) Conjugate (d) None of these
The subspace of R* spanned by the vector (a, b, ¢) is ===~
Vi) | (@) x=t,y=bt,z=ct (b) x=—at,y=-bt,z=—ct (¢) x=at,y =bt,z=ct (d) None of
these : w
Let R’ be the vector space of all ordered triples of real numbers. Then the transformation
wiii) | T R’ =3 R’ defined by T(x.y,2)=(xy,2) is
‘| (a) Identity  (b) Not Linear  (c) Rational  (d) None of these
A linear transformation T that is both one-one and onto is has Ker(T)
(ix) ‘
(a)0 (b) 1 (©)2 (d) None of these
Let Vbe vector space of finite dimension ». Then any n+1 or more vectors in V is ---------
)

(a) linearly dependent  (b) linearly independent (c) both (a) and (b) (d) none of these.
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W (5x4=20)

- Q2.  Questions with Short Answers.

Decide yes or no about the following statement, if no justify by counter example.

(i) ) If A is 2 x 2 matrix such that A2 = 0 Then A must be a null matrix- , 4)

If possible express v = (2_,~5,3) in R? as a linear combination of the vectors
(i) . - - ‘ )
ul = (15—332)3 uz = (2;_4 _1)5 u3 . (1,_‘5,7).

Check whether W is a subspace of V or not.

(iii) V={f: f:R>R}, W={feV: f)=0}. (4)

Show that
! !ra 1 1]
(iv) a1 1 3 4
det =(a-1)"(a + 3)
1 a 1
1 1 1 a

If 4 and B are invertible matrices of same order and 4B is invertible then

! show that (4B)™ = B'47",




LONG QUESTIONS (5x6=30) :

Solve the following system of linear equations by using an appropriate method.

X, = 2%+ 3x;= 3

Q.3 (6)
: 26+ x,— x;= 9
—3x, —4x, +5x,=-15.
Q.4 | Define T: R > R’byT(x,,x,,%,) =(~x,, %, %, + x,). Find N(T).Is T one-to-one? | (6)
1 21
Q5 |If 4=[2 1 2| determine the value of 4% —44—51I. (6)
2 2 1
Find the real orthogonal matrix P for which P"V‘AP is orthogonal where
Q6|  _[1 2] (6)
2 1J
Express matrix M as a linear combination of the matrices 4, B and C
where
Q.7 (6)
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Q.1. ' Encircle the right answer, cutting and overwriting is not allowed. (1x10=10)
| Rank of 4 is ==--=--- Rank of A"
(¥ i

(a) equal (b) greater than (¢) less than _ (d) None of these

If 4 and B are symmetric rnatrices. Then AB is also

(lrl) (a) symmetric (b) skev&-syrnmetric ‘(¢) Hermitian (d) None of these
If A4is a matrix of order 3x3 and det(4) = -1 , then the value of det(24) is --------

@) | (2)-8 () 6 )8 @18

. The dimension of KerT is called ...... s von ot -
() | (a) Rank (b) Nullity (c) basis (d) none of these -
- . (3 0).

The characteristic polynomial of the matrix IS -ivmansnsiaiinsiis o

) 0 1
@ p(D)=(1-2 () p(A)=G-A)1-4) () p(A)=0 (d) None of thesc
If (Z)[ =—A then Aiscalled................... matrix

&

(a) Symmetric (b) Skew symmetric (c) Hermitian  (d) Skew Hermitian

The property Va,b eR then (q+b) = ‘(b'+a) is called

(i) | (a) Closure property (b) Transitive property (¢) Commutative property (d)
Associative property

A linear transformation 7:U —> ¥ is one-to-one if and only if ===-enmne-

(viii) (@ N(T)={0} (b) N(T)#{0} () N(T)={1} - (d) N(T) ={~1}

Let R®be the vector space of all ordered trlples of real numbers. Then the transformation
g | T R® = R® defined by T(x,y, z) (x,2,0) is

(a) Linear (b) Not Linear . (c) Rational ~ (d) None of these
A symmetric matrix of order n has -------- eigen values. | | v

) A R
| (@) n-1 (b)n+l ©n @0
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Q.2 SHORT QUESTIONS

(i) | Show that the functions f(¢) = cost, g(¢) = sint, h(t) =t from R to R are 4)
linearly independent.

Without evaluating, verify that

(ii) ' b+c b ¢ 4)
det|c c+a a| =2a(b?+c?).
b a a+bd

0 1 -1

(iii) | Show that the matrix |4 -3 4 | is involutery. 4)
3 -3 4

. Check whether W is a subspace of ¥ or not.
(iv) “4)

V = R”and W is the set of first quadrant vectors of R?.

For the given matrix find the basis of Column space.

) e 1@
365 0

1 21 0

P.T.O.



LONG QUESTIONS

Solve the system of linear equations by Gaussian elimination method

0 0 1

Q.3 , . 6)
S x+y+2z=9, 2x+4y-3z=1, 3x+6y—-5z2=0
‘ [t 2 3
Q.4 | If possible, find the inverse of the matrix | 0 -2 0 (6)
-2 -2 2
For a real number k, consider the following system. For what value k dees the
system have a solution.
- x,+x, oo, +x, =k ©
~x, +%,+2x, =0 '
X, +2x, +x, —x, =—k.
Determine whether the vectors are linearly independent or
6 et | | (6)
< not?v, =(1,-2,3),v, =(5,6,-1),v, = (3,2,1).
Q.7 | If possible find a matrix P that diagonalize the following matrix.
1 1 0
' 6
A=|0 1 1 "
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1 If Limy,— co@n =L=Lim,_ccCn, then by Sandw1ch theorem Limy 4 oobn=L only 1f .....................

2. Limy—eo (l—n@): .....................

(a) o0

oG
3. If sequence {Sy,} diverges, then series ) an is .ocooieeniien.
1
(a) geometric
(b) convergent
(c) divergent

(d) harmonic

4 If flz,y) = V22 + 32 thcn fl ..................... ) whcre i md]c‘ates the derlvatlve W.I. t T
Z T
() s
(b) 2"
22 4y2
\) 2z
©) Vo

(d) none of the above

5. If an arc s; a portion of a plane curve, is rotated about a straight line, then the arc generates a surface called

(a) surface of revolution
(b)- parabola

(c) ellipse

(d) hyperbola P.T.O.
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Q.2.

Q3.

. Test the following series for convergence or divergence

Questions with short answers.

Define triple integral with an egampﬂle.

_ Define Alternating series test and give an example.
. Find equation of tangent plane at any point P(z1,Y1, z1) of elliptic parabola z = z2 + 4y>.
. Work out the critical points of flz,y) = ox? — dz + zy? — 1.

. Investigate the behavior of the series

0= >, (nl)?
n 9 “
1 1 (n )

. Use double integral to find the area enclosed by cardioid r = a(l — cos 0).

. Hz= C(_);‘_y_ 1= 'u?‘ -, Y= 6.”) then find %

Questions with brief answers.

nP~1

o0
2T

. Find the extrema of f(z,vy,7) = xy + z subject to 2 4yt 422 =1.

. If U = f(z,y) is homogeneous function of degree n then prove that

22 foz + 20y foy + y2fyy =n(n-1)f.

In(1+a)

. Using the power series expansion of In(1 + z) and (T:7)> find power series of 5+

1
. Evaluate [ = [ f [ z(z®+ y?)dzdydz by changing to cylindrical coordinates.
1

(2 marks)
(2 marks)
(2 marks)
(2 marks)

(4 marks)

(4 marks)

(4 marks)

N 7(A5*marks)

(5 marks)

(5 marks)

(7 marks)

(8 marks)
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Q.1.

Vi)

vii)

viii)

A simple connected graph containing no cycle is

This Paper will be collected back after expiry of time limit mentioned above. \\

MCQ : (1x10=10)

a) forest (b). bipartite (c) tree (d) regular

A closed walk in which no vertex is repeated except initial and final vertex is called

(a) Trail (b) path (c) cycle (d) none
A complete bipartite graph X, ,, contains edges
(a) n+tm (b) nm (c) max(n,m) (d) n-m

Fora gfaph G with n vertices and m edges, the graph G'e (where e is an edge)
contains vertices :
(@) n - (b)yn-1 - (cymtl  (dy n+2

If degree of every vertex of a graph G is same then G is called |
(a) complete (b) regular (c) connected (d) none

If vertex set of a subgraph is equal to vertex set of graph then subgraph is called
(a) spanning subgraph  (b) vertex-induced subgraph  (c) edge-induced
subgraph ' ,

The sum of degreés of the vertices of a non-trivial simple graph is :
(a) always even (b) always odd (c) may be even or odd (d) zero

The number of edges of C,, is
(a) n-1 (b)n (c) n+l (d) none

A cycle that traverse every vertex of graph is called cycle.
(a) eulerian  (b) semi-eulerian  (C) closed (D) Hamiltonian

A tree must contain vertex
_(@pendant (b isolated (c) degree two  (d) none
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Q#Z Solve the followmg Short Questlons (2x10=20)
1) For which values of n, K,, are Hamiltonion and Eulerian?
i)~ Define Complete bipartite graphs and give example.
i) Define vertex connectivity k(G) and give example of graph with «(G)=2.
iv)  Draw a non-simple graph with no multiple edges with five vertices and eight
edges. |
v)  Write incidence matrix of Kj.
vi)  What is difference between cubic graphs and cubes?
vii)  Prove that every tree is bipartite.
viii)  Which complete bipartite graphs are eulerian?
1x)  Find the cycle and cutset rank of Petersen graph.
X) Determme whether the following graphs are isomorphic or not')

Q# 3: Solve the following Long Questions. (5%6=30)
1) Define spanning tree and draw all sparining trees of wheel graph W,
if) ~ Prove that a simple graph and its complement cannot both be disconnected.
i) Is it possible to draw a simple graph on six vertices with degree sequence
{3,3,5,5,5,5}or not? Justify your answer.
iv) . Find the solution of four cubes given as

® . ; s
RNEE {v\ie?ﬂ [B[B]R |~
LR Y

v)  Find the shortest path between vertices a and b in the following graph.
b . - ho ¢
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Encircle the right answer, cutting and overwriting is not allowed.

¢)(0, +o0) -

2) The solution of the inequality

a (1,7}
¢) (-1,-7)
3)Linn . 14x)""
aje
¢) 0
4)d In ‘ ex | fdx = -
a ) 1/(x Ine)
c) +X
5)1/x™1 is the derivative of
a )sin-'x
¢) tan-'x
1.\
O (557) &
a)n( x+1)
¢) -1/
7 Incosx dx
a) sinxtc
¢) In sinx +c¢

8)[ (wl——) dx

V{1-x2)
a)sin"'x
c) tan'x
9)f, 1/V(1 - x2)
a )0
c) 60
10)[ Insecx dx
a )-csex +c

¢) cotx +c

1y [ f(x)=cos Vx then the natural domain of f is
" a )(-e0, +00) :

b) [1,+w)
d) none of these

4<Y-3<4

b) (-1,7)
d) none of these

b) -e
d)oo

b) 1/(xina)
d) none above

b) cos-'x
d)cot-'x

b) 1/x Ina
d)none of these

b) Incosx +¢
d)none of these

b) cos™'x
d)cotx

b) 30
d)90

b) secx +c
-d)none of these

Examination: B.S. 4 Years Program *Roll No. in Words. .............
PAPER: Elementary Mathematics-II (Calculus) MAX. TIME: 30 Min.
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b

A

(1x10=10)
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Q2:  write the answers of the following questions 7 5 x4 =20 Marks)‘

i} Define continuity and Solve 4+7x < 2x-10

’ 2
T . In (tanx
i1) Bvaluate lim,._,, L

Inx
ti)Find dy/dx if y=a"
iv)Evaluate [ xe*dx

- 1 dx
v) Evaluate | ——

“ (2-x)3

Q3
Y g 2X=5
a)&olvel—xj-ﬂ <1
A=

Q4

Differentiate w.ri x

a) sin (y/(1 + cosx) )

Qs
Evaluate

a)f%ﬁ—;dx

esti (3x10=30)

b)Discuss the continuity of function f(x)=x sin(1/x) at x=0

b) y=x Inx cos’ nx
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Q.2. Give short answers of following: - (5x4=20)
1. Solve the initial-value problrérilrlh ) I
dy
&=y y4) = =3
2. Solve
d'y —?
el y(3) =5
3. Solve
dy
(a + 1) 2 = Inw, y(1) = 10.
4. Solve
C/y Aai e 0BT ;
ra(n -4y = zve’,
5. Solve ’
d3q 5l d
3&Y g2V L W o
s TO S AT 8y =0,
Q3. Give detailed answers: . (5x6=30)

1. Solve the differential equation by using undetermined coefficients
dy(z) ) .‘
y(;) + 25y(z) = Gsin (x) .
dz )
2. Solve the given differential equation
» ﬁ?i =14Vt
dx
" 3. Solve 2 g
i Jy —t° . dy t .
)= = y(ly=1
4. Solve the system of linear differential equations -
(D2 +5)z(t) —2y(t) = 0,
—2z(t) + (D*+2)y(t) = O,
h_d oy & . .
whele D=4,D% =47
5. Solve . .
dy dy - 1
20V , Y o2 ), .32
Cda? da (:1 —l> g= =

by using variation of parameters (Note: The linearly independent solutions of the associated homoge-

neous differential equations are y;(z) = =2 cosz, yo(x)

=z 1/2sinz).
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Q.1. Mark True / False and Fill in the blanks. (1x10=10)
1. The first 01'.(101' differential equation 45 =76 +r + 8 + 1 is not separable. (True/False)
2. Every autonomous differential equation ;’, fly)is soparable (True/False)
3. y = —1+ 2 is a solution of ﬂ’ -y =z o (True/False)
4y = da are two constant solutions of %Zf =g+ al, ' (True/Falsc)

5. The set of functions ,/'1(:i) = cosax, fa(x) = sinax is linearly dependent on interval (~oco, 00).(True/False)
6. (£ + a?) (e** sin(Bz)) = 0. ‘ R : (True/False)
7. ( ,‘l, + @) (T€) = oo, ‘.

8. W(cos 3u,sin 32, cos62) = .ot

9. If y; = e and yp = e~ are solutions of homogeneous second order linear ordinary differential equation,
theu necessarily y = —~5¢77 + 10e* is also a solution of the same differential equation.  (True/False)

- 10. yp = Aa2? is a particular solution of —i + % , ¥ =1for A=
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Q.1.  Encircle the right answer, cutting and overwriting is not allowed. (1x10=10)
) Anac- |
a) A by A° c) d)y 0
i) A set consists of those elements which belong to A or B but not to both is denoted by
a) ADB by AnRK c) AuB d) A/B

iti) A subset of a metric space is said to be closed if it contains all of its -

a) Unions b) Intersections O opeodists d) limit points
f3) A dunction 2N - Ndefined by F{ndw= 2nis

a) one-to-one b) onto ¢) neither [-1 nor onto dj nouic of these
V) Which of the following is proposition?

a) Do not smoke  b) Lahore is capital of Punjab ¢)x +y =z d) walk along the road

Vi The AM between 35 and 55 is
. e 5 . — = =
d) V5 b) 2v5 2 \/t d) 4+/5

vii)  The converse of p — g is

a) q—p by ~p-o=g G~ qo~p ) pe g
viii)  The 13" term of the sequence x,1,2 — x, ... is
a) 10— 9x b) 11—10x ) 12 — 11x

ix) Fortwosets Aand B, A — B =
v AvE by A“uB c) AnBe d) A° N B
2 9

X) HWQ(x,y)y = x" 4 2, then which is true

) Q) b Q1) 9y d) Q(3.1)
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Q.2. Answer the following short questions. (10x2=20)

L. Find the unit open ball in RZ
i.  IfAand B are subsets of a universal set U, then show that 4 < B iff B¢ € A°.

ii.  Determine whether the function f(x) =7 —-3x%is bijective from R to R.
iv.  Find the closures of Q and Q€ in R.

v. - Define absurdity with suitable example.
Vi.  Find g o f, where FEX) =52 4+ 1 and gx) =x-—1.
Vil Find the first three terms of'a sequence fa, ~a,_, =n-+1and A, = 14.
: 1 0 1
VI List the ordered prirs in the relation on {1,2,3) corresponding to the matrix|0 - 1 g,
‘ : i 0 1
i3 Find the domain and sket ch the function flr)i= -J—.
x*
X.  Which term of A p. 52,~-1, .. is —85?
Answer the following long questions. (5x6=30)

Q.3 1llustrate the distributive law 4 N (BUC)=(4An B)U (AN C) with Venn diagrams,
10]

Q.4 Prove that n(AU B) = n(A) + n(B) —n(An B), when A, B,AUB and 4 n B are finite
SErs. [6]

Q.5  Show that the function d: R x R — R defined by d(x,y) = VIX=y[,Yx,y €R is a

metric on .

Q.6 Determine the validity of the argument: po~q,r—qri~p. (6]

Q.7 Show that 12 + 22 432 4 ... +n? = 2Bt ;QU‘U for all positive integers #, [6]
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Q.1. Encircle the right answer, cutting and overwriting is not allowed. . (1x10=10)

1. The negation of the conditional statement pP—>qis
a. —p—=>q b.pr-g c.g-p d —g —>—p

2. If A= {1,2,3}, then the number of elements inP(A)=....
a.. I b, 2° c. 2° d. 2’

- 3. Consider the relation {(1,3), (1,4), (2.3), (2,4), (3,1), (3,4)}on set A={1,234}isa..a.

Symmetric b. Reflexive c. Transitive ~d. Irreflexive
4. The 8th term of the following geometric sequence
4,12,36,108, ...
a. 8748 b. 8768 c. 12 d. 8766
5. 1,10, 10%,10°, 10*, 10°,...is
a. Arithmetic series b. Geometric series ¢. Arithmetic sequence

d. Geometric sequence

6. The total number of one-to-one functions, from a set with three elements to a set with
four elements is...........

a. 24 b. 16 c. 12 d. 9
7. If f{x) =2 x+1 then its inverse =..... ... .
a. x-—1 b. 52_—] c. I+x d. None of these

3
8. Compute the summation Z(2i— )

i=1

a. 8 b..3 c.9 d. 10

9. The number of distinct permutations that can be formed using the letters of the word
“BENZENE” is
a. 120 b. 420 c. 240 d. None of the above

10. Which term of the sequence 4,1,-2,... is -77
a. 26 b. 27 " .28 d. None of these -



UNIVERSITY OF THE PUNJAB 9000000000000000000000600
Third Semester — 2019

Examination: B.S. 4 Years Program : RollNo. ....... e .

\PaR : 2 Hrs. 30 Min.
PAPER: Discrete Mathematics (IT) MAX. TIME 2: 558
Course Code: MATH-231/IT-21404 Part-1I1 MAX. MARKS

ettt el e b i M .. L e
ATTEMPT THIS (SUBJECTIVE) ON THE SEPARATE ANSWER SHEET PROVIDED

(10 x 2 = 20)

Q.2.  Solve the following short questions.

L.~ How many integers from I through 1000 are multiples of 3 or multiples of 57
2. Use truth table to show that (p A ~q) A(~pV q) is a contradiction.

3. For all subsets A and B of a universal set U, prove that
(A-B)U (AN B)=A

4. Suppose R and S are binary relations on a set A.
IfR and S are reflexive, isR N S reflexive?

: 5. Define symmetric relation.

6. How many functions are there from a set with three elements to a set with four
~elements? '

7. Define g:Z — Z by the rule gny=n’*foralln €7
Is g one-to-one? Prove or give a counter example.

8. How many 2-permutation are there of {W, X, Y, Z}? Write them all.

9. Define Recursion.

10. Draw the graph of the binary relation C from R to R defined as follows:
forall (x, y) ER X R, (6,3) ECE x24y? =],

Q.3. Solve the following long questions. 5x6=30)

I. " Define a relation R on the set of all fnlégé}s Z as forllo{zvs.;r N
for all integers m and n,mRn& m= g (mod 3)
Prove that R is an equivalence relation.

2. State and prove the DeMorgan’s Law.

3. Prove that if  is an odd integer, then »° + 1 is even.

4. Use mathematical induction to prove that
1+3+5+ . +(2n -1)= n’for al] integers n >].

5. Letf: R —R and 2:R —R be defined by

x—2

Jx) = 3x + 2 for all x &R and g(x) = for all x&R

Show that f and g are inverse of each other.
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ANSWER IN SHORT. ©(02X10=20)

- Write any two implausible aspects of Kantian’s ethics?

Write an example showing the notion of positive freedom?

. What is the difference between categorical duty and hypothetical duty?

. What is artefact?

What is meant by representative Democracy.

- Name the famous article of Isaiah Berlin.
. What 1s meant by intentional fallacy.
.. Which theory of art distinguishes art from craft.

. Why some theorists influenced by Karl Marx regard democracy as an illusion?

What 1s meant by ‘Hedonism’.

ANSWER IN DETAIL. (03x10=30)

Elaborate the proofs about the existence of God.
Critically explain the theories of punishment.

Critically explicate the representative realism.
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Q.1.  Encircle the right answer, cutting and overwriting is not allowed. (1x10=10)

E

10.

The gambler’s argumeht is propounded by”’:

1. William Paley 2. St. Anslem 3. Aristotle 4. Blaise Pascal
Who introduced “Felicific Calculus’ for calculating the degree of pleasure:

L. Jeremy Bentham 2. John Staurt Mill 3. Immnanuel Kant 4.G.E.Moore

Which theory states that physical events cause mental events but mental events never
caus¢ physical ones:

1. Interaction 2. Parallelism 3. Ocassionalism 4. Epiphenomenalism

Which theory states that link between mind and body is provided by the intervention
of God:

1. Interaction 2. Parallelism 3. Ocassionalism 4. Epiphenomenalism
Which one is not a meta-ethical theory:

1. Hedonism 2. Emotivism 3. Naturalism 4. Moral relativism
The ‘Chinese room experiment’ is a thought experiment peculiar to:

1. Thomas Kuhn 2. N.R. Hanson 3. John Searle 4. Bertrand Russell

Who used the metaphorical term, “death of the author’to explain that once a literally
work is made public, its author has no previlege to interpret it

1. William Wimsatt 2. Monroe Beardsley 3. Ludwig Wittgenstein 4. Roland Barthes
Egalitarian doctrine that holds, “all people are equal and deserve equal rights” is a:

1. Moral doctrine 2. Religious doctrine +* 3. Economical doctrine 4. Political doctrine
Who introduced the concept of ‘Grue’in order to highlight the problem of induction:

1. Thomas Kuhn 2. John Searle 3. N.R. Hanson 4. Nelson Goodman

Which theory of art holds that the genuine work of art is non-physical:

1. Signifacant-form theory 2. Idealist theory 3. Institutional theory 4. None of any theory
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L.

2,

ES

What is the etymology of word ‘Philosophy’?
fe O 2
What is meant by embedded beliefs?

?_;.)l/y(c,g,g?’&!/
Define metaphysics.
,u’fVijJ:a?:_‘EfM‘,
. What is meant by a priori knowledge? |
‘;‘4_);/9‘/:.fl"u'jjt
What is the Ockham’s razor?
Cte T
Define inductive reasoning. ,
_bfa__g/?jbluj;@!}?r

Differentiate between hypothetical and categorical moral duties?
-L,"r/’//‘"u"}/'uf’-LLJJf/'J&m/‘/_f’/,u;}”

What is the notion of moral relativism?
e UK il 3y

9. Why some Marxists have regarded ‘Democracy’, an illusion?

10.

Q.3

L.

?‘LLJ/J?U):'/J/;’;vgl(‘.:cn:"?’i.ol/"?(f(/tub'}
What is the concept of artefact?

?ci:___l:f://}j{;!‘;(fta '
ANSWER IN DETAIL, 2 (10 %03 =30)
Describe the epistemological school of Empiricism.
LSS P YL o 7

2. Write down the moral theme of utilitarianism.

LU F b, U001 £ S e

3. Write concise note on:

N
* Negative Freedom
| EUTE- o
- *  Criticism on the Idea] theory of art
F el e
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_b'mr"bll._alibf tfuuuf VLub’.u’f(/ )uuu/ ul?v’/} .

1. In ancient Greece, ‘The Academy’ was the 1% education institution of:
Ziﬂ?KL/‘Uféﬂ’a/l)l fld‘ J..uu’r’)d
a. Zeno () c. Plato (w2ur)
b. Socrates (4! ) d. Aristotle (£ 1)

S

. Who does not belong to existentialism:
' (J” ¥ .._,u):’)uf
a. Soren Kierkegaard (€7 w.r) ¢. Martin Heidegger (A ¥/ A)

b. Jean Paul Sartre (7A-Jiub)  d. Ludwig Wittgenstein (UL faf;,ﬂ)

(98]

. For Kant, a moral action must be performed with:
i e Yn eyt B L SiidJ dU—vlumf,/z_ ¢
a. deep feelings (=liwi®) c. sense of duty (/i)
b: desiring popularity (= 7 J4%)  d. reward from Almighty (.71

4. “Anarchy, State and Utopia is the treatise of:
v PR L PR e
a. Lohn Staurt Mill (Jeste) ¢, Isaiah Berlin (Sae )
b. Jeremy Bentham ( ("W 4.2) d. Robert Nozick (35 41)

5. Which one is a meta-ethical theory:

:_T_Juéu:w,/"ﬂ"vufc,uful
a. Kantian Ethics (= s1.7¥) ¢. Moral relativisin (_—,;ufdw)
b. Utilitarianism(yf.c7.s61) d. None of any (U < (5")
6. “All people are equal and deserve equal rights.” This Egalitarians doctrine is:
e U s sl “ugjuxy.-idjfd;i//Qitj_t/.;/_fﬂ(&”
a. moral doctrine (J:-’Jdua'l) ¢. political doctrine (Jri5L)
" religious doctrine (J»*1(57.4) d. economical doctrine (Jri51-)
7. Isaiah Berlin wrote:
, :yffJLd4z_)fy
a. Art (2.J7) ¢. Two Concepts of Liberty (o }J;Jéu’;u‘;’)

b. Principles of Art (Jr1£eT)  d, On Liberty (Ut A Z$H1T)
e - U S S PTQ ‘
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Q.1.

i ,A)
B)
O

D)

E)

F)

G)
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Encircle the right answer, cutting and overwriting is not allowed. (1x10=10)

Theirinaximurm kineﬁc énergy ;)f ;Jﬁotz) clectr(rmismcri_épéhds: Li;;on”
1) Intensity i1) Frequency (iii) Temperature 1v) All these

The spectrum of black body radiation is

i) Line Spectrum  ii) Continuous spectrum iif) Band spectrum iv) Discrete

If the particles listed all have the same KE, which has the longest wavelength

1) Neutron ii) Electron iii) Proton iit) Alpha particle
Rayleigh-Jean’s law holds good for which of the following?

i) Short wavelength ii) Intermediate wavelength

1ii) Both for short & long wavelength iv) Long wavelength

What is the minimum possible momentum of a particle, trapped in an infinite one
dimensional potential well of width L

i)0 ii) K*/2L iii) h*/2L.? iv) h/2L

According to Moseley' the square root of the frequencies of lines in x-ray spectra depends
linearly on

1) Mass number ii) Atomic number  iii) Quantum number iv) None of these

The current due to motion of majority charge carrier is called

i) Diffusion current i) Conventional current

iii) Leakage current iv) Drift Current

At critical temperature, the resistivity of the superconductors fall to zero

i) Gradually  ii) Exponentially iii) Suddenly iv) None of above
In Beta decay, the kinetic energy spectrum of the emitted electrons is.
i) Discrete i) Continuous

iii) Band spectrum iv) line spectrum

The unit of activity of a radioactive source is

i) rad ii) Curie iii Sievert iv) Roentgen
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Q.2 Give the short answer of each question. (2 x 10 =20)
i.  Explain, why an evacuated tube is used to examine photoelectric emission
ii.  Briefly describe Einstein’s Photo electric equation.
iii.  Briefly comment on energy- time uncertainty relationship.
iv.  Why is the Heisenberg uncertainty principle not more radially z;pparent in our daily
observations?
v.  Explain briefly the difference between conduction band and valance band.
vi.  What is difference between spontaneous emission and stimulated emission?
vii.  State Bohr's postulates of the hydrogen atom.
viii.  Explain the difference between donor and accepter impurities?

ix.  What is metastable state? what roll such a state play in laser operation?

x.  What is doping. How N type semiconductor is formed by doping.

Q3 Define Compton effect. In a single photon-clectron collision, show that Compton shift
depends on scattering angle of photon. (1,9
Q4 (a) Derive the expression for the energy of an electron, trapped inside an infinitely deep
~ potential well of width L. )
(b)  When an electron is confined to an infinite deep potential well of width 100 pm, What
will be the energy of its lowest allowed state? 3)
QS5 (a) Explain the Rutherford's gold foil experiment for discovering the atomic nucleus.  (7)
(b)  Calculate the binding energy of deuteron. The needed atomic masses are m,= 1.008665,
m('H) = 1.007825 u, m(*H)=2.014102 u. | 3)
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Q.2. Write short answers of the following questions: (2x10 = 20)
i. What is meant by an electric field of continuous charge distribution?
ii. In the median plane of an electric dipole, is the electric field parallel or antiparallel to the
electric dnpole moment p ?
fi. ~ State Gauss law for electrostatics.
iv. Show that the capacitance with dielectric is given by C' = K,C
V. What do you mean by motional EMF?
vi. State Faraday’s law for magnetism and write down its integral form.
Vil. What is meant by the terms Bohr magneton and magnetization.

viii.  Write down mathematical forms of any two Maxwell’s equations.

ix. How do you relate &, and 1, with velocity of electromagnetic waves in free space?

X. Why a pn junction is sometimes called a nonlinear circuit element?

Q.3: (a Consider a parallel plate capacitor filled with a material of dielectric constant. Apply

%3

e

Gauss’ law on it to show that ¢’ :q[l — L]

(b) Discuss the growth of charge in an RC series circuit due to a DC potential difference
applied and find an expression for the current during its growth.

5,5)
Q4d:  (a) What_ is current density? Derive microscopic form of Ohm’s law.
(b) By using Biot-Savart’s law to derive an expression for the magnetic ﬁeld at the center
of a current carrying circular loop of radius R. -
3,95)

1
Q.5: (a) Show that the energy stored in the magnetic field is givenby u, = 2—’32 .
' H,

(b) Describe briefly the process of generating an electromagnétic wave
¢ (7,3)
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Q.1. Encircle the right answer, cutting and overwriting is not allowed. (1x10=10)
(i) Electric field inside a uniform shell of charge is
(a) infinity. , (b) negative (c) positive K (d) zero

(ii) If both the plate area and the plate separation of a parallel plate capacltor are doubled, the
Lapacitance is

(a) unchanged (b) doubled (c) halved (d) tripled
(iii) The statement that magnetic field lines form closed loops is a direct consequence of

(a) Gauss’ law for electricity (b) Gauss’ law for magnetism

(c) Faraday s law (d) Ampere S law
(iv)  Applications of Gauss’ law are typically used to calculate

(a) charge (b) current (c) potential (d). electric field
W) Lenz’s law deals with the | | ‘ |

(a) Magnetic field of EMF (b) direction of EMF

(c) Both the direction and magnitude of EMF (d) direction of induced current

(vi) A current carrying loop lying in a magnetic field behaves like a

(a) magnetic dipole (b)- magnetic pole »
(c) magnetic material _ (d) non-magnetic material

(vii)  Which of the following laws was modified by Maxwell'7 :
(a) Gauss’s law (b) Biot-Savart’s law (c) Fdraday s law (d). Ampere’s law

(viii) Electromagnem waves are produced by :
~(a) anaccelerating charge (b) a stationary charge
"(c) chargeless particles 5 (d) amoving charge

(ix) Displacement current exists wherever there is

(a) amagnetic field (b) moving charge
(c) a changing magnetic field (d) a changing electric field
(x) Mathematical expression fdr energy density u is

@ 18 c’ r (b) lEe2 O] lC(AV)F2 | (d) none-as above
5 &0 S P% 5 o 7
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Q.1. Encircle the right answer, cutting and overwriting is not allowed. (1x10=10)
(1) Which of the followiig is a vector quantity
(a) electrie charge (b) electric potential
(c) electric flux (d) current density
(i1) Mathematical expression for energy density o, is
I » | ; ! ;
(a) = &, (" (b) P E ey (c) —;('(AV)“ (d) none as above

(i11) A conductor of resistivity p has current density J . If E is the electric tield intensity applied inside
then its value is equal to

P Yo

(a) = (b) - (c) p] (d) none as above
J &

(iv) The unit of \//_(— is

(a) Henry (b) [Farad (¢) Ampere (d) Second
(v) The integral involved in the expression of Ampere’s law is of the form of

(a) volume integral (b) surface integral (c) double integral (d) none as above
i /here does the negative sion in & &% —_ 995 -
(vi) Where does the negative sign in ¢ £-ds = —~-;~ come from?

drt

(a) Lenz's law (b) Faraday’s law  (¢) Guass’s law (d) Ampere’s law

(vii)  Gauss’ law for magnetism is
N e - S dg,
(@ §Eedi=1 )  §Bedd=0 (o) fBodS =p,i (4 §E-.:/Sr_~—»——-q)fl
£, dt

(viit)  Which of the following quantities increases with increasing frequency?

(a) R (b) L () Xc (d) X,
(ix) The dimensions of RC matches with )

L R r
(a) LR (b) — (c) — (d) —
R L R

(x) The process of conversion of AC to DC is known as

(a) oscillation (b) amplification

(¢) magnetization (d) rectification
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.

Q.2. Write short answers of the following questions: (2x10 = 20) -

i.
11
iii.
iv.
V.
vi.

Vii.

Vii.

(a)

(b)

(a)
(b)

(a)

(b)

State shell theorems for electric field.

Differentiate between electric and magnetic dipoles.

What is meant by equipotential surfaces?

Define the term superconductor. »
What do you know about current density and microscopic form of Ohm’s law?
State Gauss law for dielectrics.

State Ampere’s law and give its integral form.

What is the origin of atomic magnetization?

Define Poynting vector and also write its mathematical form.

What do you mean by Barrier Potential in a PN junction diode?

Use Gauss’ law of electrostatics to find out electric field at a distance » due to an infinite line
of charge.

Show that the expression for the electric field of a circular disk of radius R, carrying a

uniform surface charge density, is given by E = (1 <
e char 1 : iven . = =
‘ 2 € Y Z2 s R2

Discuss the growth of current in an LR series circuit. '
Let R =160Q,C =15uF L =230mH , f=60Hz ,and ¢, =36V foraseries

RLC circuit. Find; (i) the impedence Z for the circuit, and (ii) the current amplitude 7,
(6,4)

In an external magnetic field B, a magnetic dipole moment 2 experience a torque 7 that

5,3)

rotates it in alignment with B . Prove that T =% B.

Write down mathematical forms of Maxwell’s equations.
(6,4)
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Q.1.  Fillin the Blanks. (1x5=%5)
N Said that man by nature is a social & political animal.
B o B e S is a social science which deals with systems of
governance, and the analysis of political activities, political thoughts and political
behavior.
3. Tenure of Pakistan Senatesis .................
4. Bxecutive, ..................... and judiciary are the important pillars of government.
5. CArticle 58- 2(b) was invoked-in Pdkxstan 19 A O ~Times to dissolve national
’ asswnbly
Q.2. Write True and False. (1x5=5)

1. A constitution is a set of fundamental punmples or established precedents according
towhich a state or other organization is Uovemcd ...........
2. The author of book “the Prince” is Nicolo Machiavelli ................_
Bicameral legislature is most suited for colonial monarchy state............
4. Dejouro sov ereignty means a government that comes into L\Iblulkk as a result of faw
and has the support of the public...............
5. .Liberal democracy means limited majority

o
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Q.3. Give short answers of following: 4x5=20)

1. Give Islamic concept of democracy.

2.. Differentiate between adult and limited franchise by exp1ammg what they
mean with examples.

3. Briefly explam the relation of pohtlcal science with
(a) Psychology ;
(b) anthropolgy

4, ‘Di’fferentiate between defacto & dejouro sovereignity.

Q.4. Give detailed answers: 3x10=30)

1. Explain powers and functions of judiciary branch of government.
2. What are the agents of political socialization?
3. Givea comparatlve analysis of dlctatorshxp and demorracy
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Q 1. T'Ck the correct answgri - P e 10-

i Pommel horse is used in Gymnastics for i

a. Men b. Women c. Bothaandb
ii. The chin positioning in forward roll is
a. Up ward b. touch with chest  c. None of these
iii.  How many events of gymnastics for women
a. 4 b. 6 c.8
iv. A Side way rotatory movement of the body is called
a. Forward roll b. backward roll c. Cart Wheel
v.  According to FINA how many lanes are in a swimming pool
a. 8 b. 6 c. 10
vi.  Gymnastics is a sport that includes exercise
a. Flexibility b. Balance c.BothA&B
vii.  How many swimmers take part in Medley relay in one team
a. 1 b. 4 c. 8
viii.  First thing a swimmer do
a. Warmup b. Cool down c. Dive

ix.  Which swimming style is easiest
a. Free Style b. Back Stroke c. Butterfly  d. Breast Stroke

x.  Swimmer finish the breast stroke lap
_a. Onehand b. Two hand c. Back
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Q.2. Give the short answer 6?ihe7f6ﬁ67\)\'/"ingaue-stions. © 10x2
i Write the technique of arms and leg action in butterfly
ii. Describe the head and arm position in head stand
ii.  Describe the role of center of gravity in backward roll.
iv.  What does D and E score means in Gymnastics
V. Name the different types of starts in swimming

vi.  How many players take part in team Medley
vii.  Write the sequence of strokes in IM (Individual Medley)
viii. ~ Write the names of women events in Gymnastics

iX. Write the names of men events in Gymnastics
x.  Describe the role of the center of gravity and Buoyancy force to determine in the floating of

swimmer.
Q.3. How a swimmer handle the wave resistance. 5+5

“i. Swimmer generated waves  ii. External waves hit the swimmer

Q.4. Explain the following in Gymnastics 5+5
i Rules of women events
ii. Rules of men events

Q.5.  Explain the techniques of the following 5+5

a. Breast Stroke b. Butterfly



. ) l \\
PAPER: Basics of Human Ansatomy MAX. TIME: 15 Min. \

UNIVERSITY OF THE PUNJAB "\, RolNo.in Fig ..

Third Semester — 2019 ™S, Roll No. in WOrds. ..rvvvvvvveenns

Examination: B.S. 4 Years Program .

Course Code: PE-203 Part-I (Compulsory) MAX. ’ 1 * Signature of Supdt.:

Q.1. Encircle the right answer cutting and overwriting is not allowed. (1x10=10)

8]

The Branch of Science ‘which deals with the : study of btl ucture of tissues of Human Body with
naked eye is called

A. Histology B. Physiology C. Gross Anatomy D. Mycology
The Pulmonary artery which carries - from heart to lungs.
A. Oxygenated Blood B. Red Blood DeO\yUenated Blood D. WBC

The fracture is parallel to the long axis of the bone

. A. Transverse Fracture B. Incomplete Fracture  C. Linear Fracture  D. Compound Fracture
- The cartilage which is found on top of the epiphysis of bone is called

- A. Fibro Cartilage B. Elastic Cartilage  C. Articular Cartil age D. Hyaline Cartilage
The plate which separates bone ends from shaft of the bone i is called

- A Prophysis Plate * B. Diaphysis Plate (. Epiphyseal Plate D. Fibrous Plate
Bone forming cells are called
A. Osteoclasts B. Osteoids C. Osteoblasts D. Osteocytes

- Specialized membrane that covers the muscle fiber in human body is called
A. Transverse Membrane *B. Plasma Membrane C. Sarcolemma D. Cell Membrane
The inner most membrane that lines the GI tract from mouth to anus from inside is called
A. Sub-mucosa B. Mascularis Externa  C. Serosa D. Mucosa
The normal length of jejunum of small intestine i in human body is
A.3.0m B.1.2m C.2.5m D. 1.5m

The part of nervous system (N.S.) which is not under the control human intentions is called
A. Central N.S. B. Peripheral N.S.  C. Autonomic N.S. D. Somatic N.S.
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Q.2. Give short answers. (10x2=20)
I. Limbic System of Human Brain 11 Oblique Plane 7
iii.  Post-Natal Life iv. SA and AV Nodes
V. Semilunar Valves Vi, Myofilaments
Vil. Vertebral Columnar Division in Human viii.  Coronary Arteries and Veins
ix. Agonists and Antagonists 4 Cerebrum
Q.3. Answer the following questions in detail. (3x10=30)
i. Draw and label the diagram of Human Heart? Also write a detailed note on different valves of
human cardiovascular system? : (5+5)
it Explain through diagram, the microscopic anatomy of Human skeletal muscle? Also describe
" Nerve Stimulus pattern of Human Skeletal Muscle (6+4)
... Draw and label the structure of a typical Neuron? Also describe different types of Neurons
11,

according to their shape in Human Body? (6+4)
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1. Culture Complex means -
a) A cluster of related culture traits
b) Artifacts used by primitive people
¢) Originally an approach to culture
d) None of these

+ 2. Social Mobility Means:
a) Traveling of groups from one place to another.
b) Participation in the cultural activities of modern age.
c¢) Migration from rural to urban areas.
d) Movement of people between positions on different levels.

3. What is the definition of a literate person:
a) A person who can read
b) A person who can only literate
¢) A person who can read and write
d) None of these
4. Cultural Lag refers to:
a) A situation where, the Pace’ of change between symbolic and material culture is
uneven.

b) The state when symbolic culture does not change at all.
¢) When people actively resist change.

d) None of above.

5. A Social Problem is:
a) Difficulty faced by people.
b) Difficulty faced and realized by people.
¢) An issue that the” experts realize to be discussed and resolved.

~ d) None of these. B

- P.T.O0.
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Q.2. Questions with short answers. 4x5=20)

i.  Family and Religion

ii.  Universal primary Education
iii.  Rural and Urban society

iv.. Society and Social Institution
v.  Characteristics of Pakistani Society

Q.3. Questions with brief answers. 3x10=30)

" |. Briefly explain the major social problems in the context of Pakistani Society.
1. What are Minority and Their Belief? Briefly explain it.

: m.Explain the historical perspective of Pakistani culture in the context of Baluchistan

culture.
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(1x10=10)

Q.1. Encircle the right answer, cutting and overwriting is not allowed.

1. is the study of mutual interaction between individuals
a) Psychology

b) Sociology

¢) Anthropology

d) International relations

2 is known as the father of “classical sociology”
a) Emile Durkheim

b) Ibn-e- Khuldoon

¢) August Comte

d) Max Weber

3. The Enlightenment was a development period of
a) Intellect

b) Philosophical thought

¢) Sociology

d) All of these

4. Which of the following social law/s was shared by August Comte?
a) Social dynamics
b) Social statistics
¢) None of these
d) Botha&b

3. The conflict theory was the chief work of
a) Emile Durkheim

b) Karl Marx

c) Max Weber

d) Herbert Spencer

6. Karl Marx gave his concept of

a) Alienation of workers

b) Social solidarity

¢) Positivism

d) Laisez-faire ’ Rk
e) All of these ~ PT.O.
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Q.1. Encircle the right answer, cutting and overwriting is not allowed. (1x10=10)

1. Individuals who gets things done by others?
I. Leaders
2. Psychologists
3. Organizations
4. Managers
2. Successful managers and entrepreneurs recognize that:
1. Technical knowledge is all that is needed for success.
2. Interpersonal skills are not important.
3. Technical skills are necessary, but insufficient, for succeeding in management.
4. An understanding of human behavior does not impact effectiveness
3. Behavior is generally and the of behavior 1s a means to making reasonably
accurate predictions.
1. Predetermined; observation
2. Predictable; systematic study
3. Controllable; theoretical application
4. Which one of the following statements about Maslow’s hierarchy of needs theory is not true?
1. The five levels of needs are arranged in hierarchical order.
2. Physiological needs are the lowest level.
3. The lower order need must be fully satisfied before the next higher need becomes potent.
4. The need hierarchy concept has not been well supported by research.
5. An individual’s belief that he or she is capable of performing a task.
1. Self-efficacy
2. Encouragement
3. Overt behavior
6. One of the shortcuts used to judge others involves evaluating a person based on how he/she
compares to other individuals on the same characteristic. This shortcut is known as:
1. Selective perception
2. Contrast effects
3. Halo effect
4. Prejudice
7. Field of study that investigates the impact that individuals, groups, and structure have on
behavior within organizations.
1. Organizational behavior
2. Psychology
3. Sociology
8. Which of the following best reflects the "melting pot" assumption?
1. Managers should be active
2. Diversity should be embraced
3. Diversity will contribute positively
9. What does OB stand for?
1. Organizational behavior
2. Orgamizing behavior
3. Organized business
10. What is the core underlying discipline that forms organizational behavior?
1. Psychology
2. Organizational Behavior
3. Sociology
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Q.1. Encircle the right answer, cutting and overwriting is not allowed.
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Attempt this Paper on this Question Sheet only. \\

A Sampling Frame should
A) be non-overlapping.
C) non exhaustive.

N
N

(1x10=10)

B) large enough.
D) B&C

A random sample is worst when population is

A) homogenous

C) infinite

A Syestematic sampling is preferred in

A) industrial surveys.

C) household surveys.

Two sided test is conceined with only
A) composite hypothesis

C) bi-directional hypothesis

B) heterogeneous
D) A&C

B) Laboratary surveys.
D) A&C

B) simple hypothesis
D) A&C

Inference consists of two parts(testing and estimation)

A) first we test then estimate

B) first we estimate then test

C) testing & estimation are done simultaneously D) only estimation is done
A selection committee of a college selects an incompetent teacher, so it is

A) Type-l| error

C) valid decision .

Null hypothesis is designed for possible
A) acceptance

C) both A&B

Paired t-test is applicable when

A) sample size is small

C) observations are in the form of pairs.
Parameter of chi-square distribution is
A) mean

C)p

Chi- square statistics is used for

A) best fit

C) association

B) Type-Il error

D) non of the above.
B) rejection

D) none of the above

B) population variance is unknown
D) all of AB& C

B) variance
D)n

B) correlation
D) A&C
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~ Write short answers to each of the followings.
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What are the advantages and disadvantages of using this sampling
technique?

Differentiate between probability sampling and non-probability sampling.
What are their relative advantages and disadvantages?

Differentiate between Multistage and Multiphase Sampling. |

What is a.sampling distribution? Describe the properties of the sampling
distribution of the means. ' :
Under what conditions, the paired t-test is used?

What do you mean by p-value?

Using a random number table, select 30 samples of size 3 each with
replacement from the following population distribution of heights. Find the
mean of sample means.

| Height (inches) | No. of students |
| 60 - 62 5
’ 63 - 65 18
' 66 - 68 42
' 69 - 71 | 27
| 72-74 | 8

A sample of 40 observations from a population with unknown mean #and

unknown variance gave 2X =800 gnd LX*=16052

A second sample taken from the same population gave
L X 18 19 20 21 22 23
| f 112 23 10 7 5 3 :

Using the data given by the two samples, find unbiased estimates of # and :

T,
A firm wishes to test the hypothesis that the average monthly wage of its
shop employees is Rs.180 with a standard deviation of Rs.4.50. They wish

to run a risk of only 0.05 or rejecting the null hypothesis when it is true, and
a risk of only 0.05 of accepting the null hypothesis if the average is as high

‘ ,és Rs. 182 or as low as Rs.178. How large a sample should be taken?

A random sample of size 40 from non- normal population yielded the
X\ =704, S} =31.40 another random sample of size 50 from second non

normal population yielded X» =65.3, S7 =44.82, test the hypothesis that the
difference between two means is equal to 2.

A random sample of 250 men and 250 women were polled as to their desire
concerning the ownership of television sets. The following data resulted:

Classification Men Women | Total
Want television 80 120 | 200
Don’t want television 170 130 300
Total 250 250 500

Test the hypothesis that desire to own a television set is independent of sex

9000000000 00000000000000
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Q.2. Questions with short answers. (4x5=20)
1) Differentiate between Populatlon and Sample
ii) Differentiate between Parameter and Statistic.
iii) Define Dispersion.
iv) Define Classification.
v) Define Positive and Negative Correlation.
- vi) Define Null Hypothesis.
" vii) Write down two properties of Arithmatic Mean.
viii) What do you mean by Probability?
ix) Describe Regression.
Y) Deﬁne Sampllng Without Replacement

QUESTIONS WITH BRIEF ANSWERS (3x10=30)

Q No.3: A population consists of values 3,5,7,9. Take all possmle samples of size 2
with replacement from this population. Bnnd the mean for each sample. Make a
sampling distribution of mean and verify that:

(a) Mean of Sample Means = Population Mean o

(b) Variance of Sample Means = Population Variance/n (10 Marks)

Q. No.4: The following frequency distribution gives the ages of 100 college Students:

Ages 14-15 [ 16-17 | 18-19 |20-21 |22-23 |24-25 | Total
Number of 6 16 20 31 |15 12 100
students

Compute Mean and Standard Deviation. (10 Marks)

.Q. No.5: The data of heights and weights is given below:

Height (X) 72 |54 [73 |63 (66 |65 |60 |70 |71 |69
Weight (Y) 67 |57 |68 |64 |68 |72 |67 |73 |69 72
Find Regression Line of X on Y and Correlation Coefficient between X

and Y. (10 Marks) |




UNIVERSITY OF THE PUNJAB \\\Roll T ——

il Third Semester —2019 "N\ Roll No. in WOTdS. ceeeeveeeeenees
L Examination: B.S. 4 Years Program .

: B A(‘:;

PAPER: Elementary Statistics 7 15
Course Code: STAT-211/GEN-21129  Part-I (Compulsory) MAX. MARKS

N
A Y
\

-------------------------

\Signature of Supdt.:

A )

N
- Attempt this Paper on this Question Sheet only. . \\
Please encircle the correct option. Division of marks is given in front of each question. \\

This Paper will be collected back after expiry of time limit mentioned above. S
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(i) Number of students in a College is an example of:
(a) discrete variable (b) qualitative variable
(¢) Attribute (d) continuous variable

(i) The median of the following data 8,5,8,7,3,5,8 is:

(a) 8 (b) 4 (c) 7 (d)3

~ (i1)) A numerical quantity calculated from population data is called:
(a) Statistic (b) parameter
(¢) Constant : (d) None of above

- (iv) A branch of statistics by which obtained data is organized and summarized in
order to describe its nature is called as:

(a) Explanatory statistics (b) descriptive statistics
(¢c) Inferential statistics (d) none of these

(v) Sampling error can be decreased by:
(a) Increasing sample size (b) decreasing sample size
(¢) Fixing the size (d) none

(vi) For a Negatively Skewed distribution;
(a) Mean, mode, median are equal (b) Mean, mode, median are not equal

(¢) Mean is greater than mode (d)Mean is less than mode

(vii) Observed data organized into rows and columns is called:

(a) Classification (b) Tabulation

()" Array, (d) Frequency Distribution
(viii) Mean and variance of 7, 7,7, 7, 7 is:

(a -7,7 (b) 0, -7 (7,0 (d)7,7
(ix) The range of Correlation Coefficient is:

(@) Otow (b) -c0to 0

(c) -ootoow ~ (d) -1to1l

(x) A non-deserving player is selected in a team is an example of:
(a) Correct decision (b) type —II error
(¢) Type -1 error (d) level of significance
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Q.2 Give short answer of the following 2x10=20

1,

Differentiate between starch and glycogen.

. How pH affect enzyme activity.
. What is meant by micro-evolution? Give an example.
iv.  Write the differences between coenzyme and cofactor.
V. What is meant by immunoglobulin and its types?
vi.  State 1* law of thermodynamics with an example.

vil. - Write major functions of lipids. ‘

viii. - What is meant by energy flow? Briefly discuss
ix.  Explain crossbreeding with respect to evolution.
X.  Differentiate between ecosystem and biome.

Q.3 Long questions. o 3x10=30
1 Write a comprehensive note on phosphorus and carbon cycle.

11 Explain different evidences of evolution in detail.

I~ What is meant by homo- and hetero- polysaccharides? Write in detail

about peptidoglycans of bacterial cell wall.
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Q.1. Enclrcle the rlght answer, cutting and overwrltmg is not allowed (1x10=10)
L, Wthh of the follj)thg ammchld has amide groupﬁlil;lts Slde cham
A) Cysteine
B) - Lysine
C) Glutamine
D) Isoleucine
E) None of these
" 2. The minimum number of carbou in a monosaccharides is
A) 2
B) 3
C) 4
D) 6
) None of these
3. Lipid are important constituents of
A) Nucleus
B) Ribosome
Q) Biological membranes

D) All of these
4. Which of the following have no enzymes of their own?

A) Bacteria
B) Cynobacteria
©) Viruses E :
D) All of above
5. Carbohydrates occur naurally in
A) D-form
B) L-form

C) Both A and B
D) None of these
6. Lamarck theory of organic evolution is usually known as

A) [nheritance of acquired characters
B) Descent with change
C) Continuity of fermplasm

D) All of above
E) None of these

7. In which condition genc ratio remains constant in a spcucs7
A) Gene flow
B) Mutation
<) Random mating
D) Sexual selection
E) None of these

8. Habitat destruction can result in a loss of

A) Species
B) Community
) Ecosystem

D) None of these
9. The lowest tropic level of an ecosystem always includes
A) Producers

B) Consumers
C) Herbivores
D) Carnivores
E) None of these
10. The community and its abiotic environment constitutes a
A) Biosphere
B) Habitat
C) Ecosystem

D) Food web
E) None of these
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